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Roll Number

Name of the Candidate

Examination Name KVS TGT Science

Exam Date & Time 12-02-2023 03:00:00

 Subject : GE_Q01-Q10_KPTGTSCI

 Question ID:- 11

Options:-

.1, Option ID :- 41,

. 2, Option ID :- 42,

. 3, Option ID :- 43,

. 4, Option ID :- 44,
 Answer Given:- 2, Option ID : -42

 Question ID:- 12

Options:-

.1, Option ID :- 45,

. 2, Option ID :- 46,

. 3, Option ID :- 47,

. 4, Option ID :- 48,
 Answer Given:- 3, Option ID : -47

 Question ID:- 13

FIDELITY
Choose the word similar in meaning to the one given above :
(1) Fame
(2) Loyalty
(3) Affection
(4) Joy

IMPENDING
Choose the word similar in meaning to the one given above :
(1) Incidental
(2) Interesting
(3) Serious
(4) Imminent

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


https://applink.adda247.com/d/5zsmwiLHz7


Options:-

.1, Option ID :- 49,

. 2, Option ID :- 50,

. 3, Option ID :- 51,

. 4, Option ID :- 52,
 Answer Given:- 3, Option ID : -51

 Question ID:- 14

Options:-

.1, Option ID :- 53,

. 2, Option ID :- 54,

. 3, Option ID :- 55,

. 4, Option ID :- 56,
 Answer Given:- 1, Option ID : -53

 Question ID:- 15

Options:-

.1, Option ID :- 57,

. 2, Option ID :- 58,

. 3, Option ID :- 59,

. 4, Option ID :- 60,
 Answer Given:- 3, Option ID : -59

 Question ID:- 16

Identify the Part of Speech of the underlined word in the following sentence.
He bought me a walking stick.
(1) Noun
(2) Verb
(3) Adjective
(4) Adverb

He gave me a beautiful book.
Choose the option in which the above sentence has been changed into Passive Voice :
(1) A beautiful book was given to me by him.
(2) A beautiful book was given to me.
(3) I was given a beautiful book.
(4) I have been given a beautiful book.

He said to me, "Will you please help me ?"
Choose the option in which the above sentence has been changed into Indirect Speech :
(1) He requested me if I will help him.
(2) He asked me if I would please help him ?
(3) He requested me if I would help him.
(4) He asked me if I shall help me.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 61,

. 2, Option ID :- 62,

. 3, Option ID :- 63,

. 4, Option ID :- 64,
 Answer Given:- 2, Option ID : -62

 Question ID:- 17

Options:-

.1, Option ID :- 65,

. 2, Option ID :- 66,

. 3, Option ID :- 67,

. 4, Option ID :- 68,
 Answer Given:- 3, Option ID : -67

 Question ID:- 18

Options:-

.1, Option ID :- 69,

. 2, Option ID :- 70,

Rearrange the following jumbled words/phrases into a meaningful and grammatically correct
sentence.
(A) her second one
(B) her mother
(C) child,
(D) to another
(E) gave birth

(1) ACBDE
(2) BEDCA
(3) CEBDA
(4) DACEB

Identify the part of the followings in which there is an error.
Ramdold/me that/he has/lost his book.

(a) (b) (c) (d)
(1) (a)
(2) (b)
(3) (c)
(4) (d)

Fill in the blank in the sentence given below by choosing option out of the one that follow.
his word.You should be sure that he won't

(1) put up with
(2) go back on
(3) put out of
(4) run away with

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


. 3, Option ID :- 71,

. 4, Option ID :- 72,
 Answer Given:- 1, Option ID : -69

 Question ID:- 19

Options:-

.1, Option ID :- 73,

. 2, Option ID :- 74,

. 3, Option ID :- 75,

. 4, Option ID :- 76,
 Answer Given:- 1, Option ID : -73

 Question ID:- 20

Options:-

.1, Option ID :- 77,

. 2, Option ID :- 78,

. 3, Option ID :- 79,

. 4, Option ID :- 80,
 Answer Given:- 3, Option ID : -79

 Subject : GH_Q11-Q20_KPTGTSCI

 Question ID:- 21

Options:-

Fill in the blank in the sentence given below by choosing option out of the one that follow,

a row over nothing.Lata kicked
(1) up
(2) out
(3) off
(4) into

Fill in the blank in the sentence given below by choosing option out of the one that follow,

him if he loses the match.It will
(1) go out with
(2) come out on
(3) go hard with
(4) come off with

"dHf FF; d&llVl H <S=h < FTdffF̂ =tTlRjiy-

FHRi =b FFTT Ff 3i|jbid °MRtd Ffd iRdk Fd gRddl % ill iRdK Ff 3H3*ii*Me)ddl, 3RRF«n, JFMK
HMdl FR f̂ =FT RR FfHT FTFF % fdFI'F tRdK FF Rl=bK FF Fldidl % I

FfFFR % dRsl-41 FF HMRi=h FFff F^ gFd FF FIFFR Ff FFI 3TTFT 1? ?
(1) FF-FNfd
(2)
(3) 3FJ3TTFR

(4) gRd FHF

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


.1, Option ID :- 81,

. 2, Option ID :- 82,

. 3, Option ID :- 83,

. 4, Option ID :- 84,
 Answer Given:- 3, Option ID : -83

 Question ID:- 22

Options:-

.1, Option ID :- 85,

. 2, Option ID :- 86,

. 3, Option ID :- 87,

. 4, Option ID :- 88,
 Answer Given:- 4, Option ID : -88

 Question ID:- 23

Options:-

.1, Option ID :- 89,

. 2, Option ID :- 90,

. 3, Option ID :- 91,

. 4, Option ID :- 92,
 Answer Given:- 2, Option ID : -90

 Question ID:- 24

^ H <o=b< F̂dd foj'+irrM 1̂ dilRlR-

HUR̂ ftnt 37ls*>ld °i) f=td MRclK T̂ ^RSNI % eft HRC|R f̂ 3f^|RR$Hdl, SToJRR̂ fl, £<MR 3?R ^73^Hlddl f̂®Wf 'R olfFT "STRI % RlTH^i WWf HR^K 3TT Rl=bl< T̂ -Hdidl % I

HR^K % T̂ <^KUI^t :
(l)
(2) 3Rq ŝn
(3)
(4) qRcfR T̂ gfeR

f^T RT Tiuf î H<S°h< TRtRRT fq=hcrH T̂ =h1Rn<-
HldRldi TRff ^ 3TR7RT o^Rtd HRdR T̂T ^RSI MI % TTt HRC)R 3 3^ll*Mslddl, t̂^dfSTT, ^<NK 3fR
HMdl T̂ ô TR W7I 77 R̂ % f3Rf% WR3W7 HR=IK T̂ Rl=hl< 7̂ TRnTT % I

$"5̂ 7 3iiq^ch %|MSlRfl % 3TRTR RT ^i?T ‘SfT 77=bdl 11%
(1) ^ishid °MRKI
(2) HHR7 =h TR
(3) HHcfi ’H^ T̂f
(4) MRC|R%^RsMI

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 93,

. 2, Option ID :- 94,

. 3, Option ID :- 95,

. 4, Option ID :- 96,
 Answer Given:- 4, Option ID : -96

 Question ID:- 25

Options:-

.1, Option ID :- 97,

. 2, Option ID :- 98,

. 3, Option ID :- 99,

. 4, Option ID :- 100,
 Answer Given:- 2, Option ID : -98

 Question ID:- 26

Options:-

T̂ TT T[TT JItil'll TOffTO' dRdd fa=h<rM TO TOR e^M.-
T, 3TTOTOTO, <£<Mk 3Tfc '<pR

HMdl TO*ff TO TOFT RHT ^TTO t fTOT% WW1 MRdK ^*rfTO TO Rl=hk TO TOdl % I

TO RfdlH TO? t-
(1) TO

(2) ^
(3) %m
(4) 4TOTO

f?o; TO; TOTO TOt H <o=h< TORTO' f̂ro froTOT TO TOR TOlfro;-
HHRld) fRTT ^ 3TOTO oi)Rtd ¥f? MR.dk TO ^Rddl % ctf MRdk 3T^IHR$'Hdl, 3TTOTOTO, ?<MK 3?R c[7TO
HMd) TOT̂ f TO TOFT RRT TTTO % fTOT% TOTTTOTO nRdk ^TfTO TO Rl=hl< TO TORT % I

fror ?TTO R TOTO! sfR RTOM-^RTT* TO TOTRT fro t? ?
(1) ^rro
(2) SFJTOTOIJRRT
(3) 3TTOTO8TT

(4)

TOTO-TR^TO?f TO d?R-TTT 3TTOTT t?
(1) 3TfR-3TFT

(2) TOFft-TTTf
(3) TT^-TO

(4) W-¥Sft

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


.1, Option ID :- 101,

. 2, Option ID :- 102,

. 3, Option ID :- 103,

. 4, Option ID :- 104,
 Answer Given:- 4, Option ID : -104

 Question ID:- 27

Options:-

.1, Option ID :- 105,

. 2, Option ID :- 106,

. 3, Option ID :- 107,

. 4, Option ID :- 108,
 Answer Given:- 3, Option ID : -107

 Question ID:- 28

Options:-

.1, Option ID :- 109,

. 2, Option ID :- 110,

. 3, Option ID :- 111,

. 4, Option ID :- 112,
 Answer Given:- 3, Option ID : -111

 Question ID:- 29

Options:-

.1, Option ID :- 113,

. 2, Option ID :- 114,
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. 3, Option ID :- 115,

. 4, Option ID :- 116,
 Answer Given:- 3, Option ID : -115

 Question ID:- 30

Options:-

.1, Option ID :- 117,

. 2, Option ID :- 118,

. 3, Option ID :- 119,

. 4, Option ID :- 120,
 Answer Given:- 4, Option ID : -120

 Subject : GA_Q21-Q30_KPTGTSCI

 Question ID:- 31

Options:-

.1, Option ID :- 121,

. 2, Option ID :- 122,

. 3, Option ID :- 123,

. 4, Option ID :- 124,
 Answer Given:- 2, Option ID : -122

 Question ID:- 32

it f̂ T rfl ®** %-

(1) ftM
(2) ®T3FR

(3) 1SNT

(4) ^

What is the decimal equivalent of Hexadecimal number 31 ?
(1) 49
(2) 42
(3) 48
(4) 41

STFIRt 1K34I 31 c^Hei^ HH'Jc'M T̂I "t ?
(1) 49
(2) 42
(3) 48
(4) 41

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 125,

. 2, Option ID :- 126,

. 3, Option ID :- 127,

. 4, Option ID :- 128,
 Answer Given:- 2, Option ID : -126

 Question ID:- 33

Which of the following statement(s) is/are correct ?
(A) Force of friction always opposes motion of objects.
(B) Force of friction always goes along the motion of objects.
(C) Inertia is the natural tendency of objects.
Identify the correct answer from the codes given below :

(1) (B) and (C) are correct
(2) (A) and (C) are correct
(3) Only (A) is correct
(4) Only (B) is correct

Rnfeifed if # FTT/3 FT#t/f ?
(A) ‘ST^T FFN ^Fg3Tf ^ "EflFT % fdM< lc1 #cTT %
(B) Ff^oj FP^ '3fFg3Tf -c|[<rl % FIT®!$ldl %
(C) 'd -Sdl ^ cTF$J3ff ytjfrl % I

iM fdM, FTl =^ST # Fl$ <Jd< ^)T fehPd’J, :

(1) (B) <#F (C) FT# t
(2) (A) (C) FT# f
(3) % T̂Ft (A) FT# t
(4) % T̂ (B) Ft# t

Consider following statements regarding Mission SAGAR :
(A) Under the overall ambit of Mission SAGAR, Indian Navy undertook transhipment of

Humanitarian and Disaster Relief (HADR).
(B) Humanitarian and Disaster Relief (HADR) was provided to countries around the world and

not confined to Indian Ocean Countries only.
Which of the statements given above is/are correct ?

(1) (A) only
(2) (B) only
(3) Both (A) and (B)
(4) Neither (A) nor (B)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 129,

. 2, Option ID :- 130,

. 3, Option ID :- 131,

. 4, Option ID :- 132,
 Answer Given:- 3, Option ID : -131

 Question ID:- 34

(H*H WR % PinfciRsici n̂f Pq -^k qPlPqu, :

(A) f T̂CH RFR % FFTU 3, 'Mkd'lk "̂ flTiFTT % Kf 3pR 3TR^I TT^cT (TJ^.'^. P̂SfR ) 37T Mg’qi} offi F̂fHMqmq

tar
(B) HHqdMKl 3fo 3TPRT W ( T^.TT. t̂.aTR ) %^?tf W^ 3^k^%3vf HR HtfWHK

=fTrf^if cRT # Rtfod^
cSM^'W 3 "?P t/f ?

(1) %£feT (A)
(2) %̂ T (B)
(3) (A) afc (B)

(4)

Match List - I with List - II and select the correct answer using the codes given below :
List - I
(Dronacharya awardees, 2022)

(A) Shri Raj Singh
(B) Shri Dinesh Jawahar Lad
(C) Shri Jiwanjot Singh Teja
(D) Shri Mohammad Ali Qamar
Codes :

List - II
(Sports/Games)

(i) Archery
(ii) Boxing
(iii) Wrestling
(iv) Cricket

(A) (B) (C) (D)
(1) (iv) (iii) (ii) (i)
(2) (i) (iv) (iii) (h)
(3) (ii) (i) (iv) (iii)
(4) (iii) (iv) (i) (ii)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 133,

. 2, Option ID :- 134,

. 3, Option ID :- 135,

. 4, Option ID :- 136,
 Answer Given:- 4, Option ID : -136

 Question ID:- 35

Options:-

.1, Option ID :- 137,

. 2, Option ID :- 138,

. 3, Option ID :- 139,

. 4, Option ID :- 140,
 Answer Given:- 1, Option ID : -137

 Question ID:- 36

3?k^TT-II fad'H cfci'falJ. cT«n f^TT TT* ~^Z T̂ TPlRT fQ; R# ~3rR =FJT WI <=Klf̂ il^
( #H )

(i) dlwl
(ii) ipM
(iii) W*
(iv) fsh^> d

:

^-i
( C{1(JIIT^ I 4 ^HRJTR 14 I 2022)

(A)

(B) #1^%?T

(C) 3lt 'Jilq'i4) ci Ru? ctai
(D) # Sleft =FR

(A) (B) (C) (D)
(1) (iv) (iii) (ii) (i)
(2) (i) (iv) (iii) (ii)
(3) (ii) (i) (iv) (iii)
(4) (iii) (iv) (i) (ii)

Which Title/ Book has been selected for the Sahitya Akademi Award 2022 in Assamese
language ?
(1) Bengal Bahu Dur
(2) Bhool Saitya
(3) Dokmokali
(4) Sonar Samus Mukhat Loi

3RRl *FF1T 3 -Hffecq 2022 %^ =f?T^TT Mil?
(1) 4'llel ®fTf ^(2) *jyr

(3) cj)cb4l4)lcil
(4) RfaR TfFJR ^sRT

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 141,

. 2, Option ID :- 142,

. 3, Option ID :- 143,

. 4, Option ID :- 144,
 Answer Given:- 3, Option ID : -143

 Question ID:- 37

Which of the following states in India was given full statehood as a result of a Peace Agreement
signed in 1986 between the Union Government and the leadership of a secessionist movement ?
(1) Tripura
(2) Nagaland
(3) Mizoram
(4) Sikkim

F̂Tt ^ fg^lT TRTl ?
(1) f^T

(2) 'iiJn <3'S

(3) fa'ji'kM

(4)

Which of the following peaks of the Himalayas is/are located in India ?
(A) Dhaulagiri
(B) Nanga Parbat
(C) Annapurna
(D) Kamet
Choose the correct answer from the codes below :

(1) Only (A)
(2) Only (A) and (B)
(3) Only (B) and (C)
(4) Only (B) and p)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 145,

. 2, Option ID :- 146,

. 3, Option ID :- 147,

. 4, Option ID :- 148,
 Answer Given:- 2, Option ID : -146

 Question ID:- 38

Options:-

.1, Option ID :- 149,

. 2, Option ID :- 150,

. 3, Option ID :- 151,

. 4, Option ID :- 152,
 Answer Given:- 3, Option ID : -151

 Question ID:- 39

PinlelRad Ft Fit ^Idl ^kci f̂ t̂ lcf 1? ?
(A)
(B) ^nMcJd
(C) SR'J’lf
(D) =blAd

f^T* TfTT -^z it Ft?!3TR chir̂ U. :
(1) %̂ r (A)
(2) %̂ t (A) 3?fc (B)
(3) (B) 3fk (C)
(4) %cfFf (B) 3fc (D)

Which of the following is not an example of a Eukaryotic organism ?
(1) Fungi
(2) Chimpanzee
(3) Bacteria
(4) Protozoa

PlHftrinart P Ft FPFtta =̂bl ^I6<ul T̂?f t?
(1)
(2) WMNI
(3)

(4)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 153,

. 2, Option ID :- 154,

. 3, Option ID :- 155,

. 4, Option ID :- 156,
 Answer Given:- 1, Option ID : -153

 Question ID:- 40

Options:-

Consider the following statements.
(A) The section on 'Fundamental Duties'wasnot part of the original Constitution of India adopted

in 1950.
(B) It was inserted through a series of Constitutional amendments in the decade of 1960s.
Choose the correct answer from the code below :
(1) (A) is correct but (B) is wrong
(2) Both (A) and (B) are correct and (B) explains (A)
(3) Both (A) and (B) are correct but (B) does not explain (A)
(4) Neither (A) nor (B) are correct

PlMpdfocl FT <=bU^m :

(A) Fci°4 ’ 1950^ Suited FTTF % tJTT TTfFFFT FT FF FFT Ffff «TT I

(B) ^ 1960 % F fFT FT TT^FlfH+ TTFTFFT Ft ĴIIcTT % FFFF ^ STFf^g fFFT FFT FT I

FHI f^T TT^^ Tfift TFT FT FFF :

(1) (A) t fF§ (B) FcfiT|

(2) (A) 3flT (B) TtTfTTFtf 3^k (B) , (A) FlTFSFTcnt
(3) (A) 3ftT (B) TtFfTT^ttFT (B), (A) FTTFSWfFTTFTt
(4) TFTT 3 Ft Wt F?!11

Which among the following newspapers/ journals published in colonial India was not founded by
M.K. Gandhi ?
(1) Nav Jeevan
(2) Indian Opinion
(3) Young India
(4) Bande Mataram

3frrft#f?TF FTTF F TTFTfeT fFF TTFTFTT FT/MfaFI3TT Ft TF79FT F.%. FFt £TTT Fj?f Ft F^ Ft ?
(1) F3T FtFT
(2) STtiFiFFT
(3) FTffeFT
(4) FTFTT.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


.1, Option ID :- 157,

. 2, Option ID :- 158,

. 3, Option ID :- 159,

. 4, Option ID :- 160,
 Answer Given:- 3, Option ID : -159

 Subject : RA _Q31-Q35_KPTGTSCI

 Question ID:- 41

Options:-

.1, Option ID :- 161,

. 2, Option ID :- 162,

. 3, Option ID :- 163,

. 4, Option ID :- 164,
 Answer Given:- 2, Option ID : -162

 Question ID:- 42

The given question is based on the following information :
'M + N' means 'M' is the mother of N;
'M x N' means 'M' is the son of N;
'M-N' means 'M' is the husband of N;
'M-j- N' means 'M' is the sister of N;
If 'DTHXR-P + J/ then how is 'D' related to J ?
(1) Mother
(2) Sister
(3) Wife
(4) Sister-in-law

'M + N' Î 3T^ t - M, N ^t
'Mx N' mI- M, N ^1;

'M-N' ^51 3T*tt - M, t;
'M -s- N' m % - M, N 1̂1;

^ 'D -rHxR-P + J' f, 'U ,'J'^ TRiR t ?

(1) WI

(2)
(3)

(4)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 165,

. 2, Option ID :- 166,

. 3, Option ID :- 167,

. 4, Option ID :- 168,
 Answer Given:- 2, Option ID : -166

 Question ID:- 43

Three statements showing relationships have been given, which are followed by two conclusions
I and It. Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.
Statements :
1. P < Q
2. S > Q
3. Q > R
Conclusions :
I. R = P
D. R < S

(1) Only conclusion I is true
(2) Only conclusion II is true
(3) Both conclusions I and II are true
(4) Neither conclusion I nor II is true

TRSJ cffa «̂R RT f Pl <*b 4 - I 3?k II RT f I^ |TQ; rjxi

W Wcf c£R fnTV^ct 3Tt# t/t ?
eR8R :

1. P < Q
2. S > Q
3. Q > R

:

I. R = P
n. R < S

(1) I^i?
(2) II Wt t
(3)

(4) ^Rf fRRR? 33^ ^ t

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 169,

. 2, Option ID :- 170,

. 3, Option ID :- 171,

. 4, Option ID :- 172,
 Answer Given:- 3, Option ID : -171

 Question ID:- 44

Eight friends J, K, L, M, P, Q, R and S are sitting around a square table facing the centre of the
table. Some of them are sitting at the corners while some are sitting at the exact middle of the sides.
'F sits third to the left of 'R\ 'F sits at one of the comers. 'K' sits second to the right of 'Q'. 'Q' does
not sit at any of the comers. 'Q' is not an immediate neighbour of 'F.'S' is an immediate neighbour
of 'J'. 'S' does not sit at any of the middle of the sides. Only three persons sit between 'S' and 'L'.
Who sits second to the left of 'M' ?
(1) L
(2) Q
(3) S
(4) P

3TT3 J, K, L, M, P, Q, R S cHUbk 3TR 3TR ip ^11
El^1? 'JlslH+i ^ f I 'F, 'R' %^Pff 3TR ET ^dcll % I 'F

ETPT3^5cfT 11'K', 'Q' % ^PfF 3TR ^R WH TC 11 'Q' t I 'Q', 'F
'S'/J'^TT^RR^Rfttl 'S' f^RTl *J*TT % tel11'S' 3?R 'L' % #T

<*1*1 ^ I 'M' % ®fRTf 3?R WE EE E?fE ®f3c1T % ?
(1) L
(2) Q
(3) S
(4) P

Three statements are given, followed by three conclusions I, II and III. You have to consider these
statements to be true, even if they seem to be at variance from commonly known facts. You are to
decide which of the given conclusions logically follow(s) from the given statements.
Statements :
1. No chair is table.
2. Some benches are tables.
3. All chairs are Almirahs.
Conclusions :
I. Some Almirahs are tables.
II. Some benches are chairs.
III. No table is Almirah.
(1) Only conclusion I follows
(2) Only conclusion II follows
(3) Only conclusions II and III follow
(4) Only Either conclusion I or El follows
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Options:-

.1, Option ID :- 173,

. 2, Option ID :- 174,

. 3, Option ID :- 175,

. 4, Option ID :- 176,
 Answer Given:- 2, Option ID : -174

 Question ID:- 45

#T ^t fanSb I, II 3fR III f^XT f I 3TTWI ^Hf ^ Wf XJFHT f ^-HIHMcl: 5lldc1«4l ‘ftf^f xT ^f I ^ Pl <J|i|chlf̂ lM.P?T °RFT WFf Pi^4 x^T Pi dlPP=b X̂T Pf Pi <=hciclt
t/t ?

:

1. ^ <pff 3*1 f ,
2. fr*5 oNr xfct f i

3. I
fHbcbtj ;

I. =f %5 ^rHlRqt Xp3f|f I

II. ^ f i

III. =f)tf PR 3H <rHI<) HFf % I

(1) 4>c«rl Pl &*> 4 I Pi **dell 1?

(2) %°fFT Pi <^4 II Pl =Mdl t
(3) %̂ FI Pi**> 4 II <4fa m Pididcl t
(4) %^el XTT eft Pi1**)4 I 3T«M Pl'*t> 4 III P) =t>dc1l %
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Options:-

Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :
Chair, Furniture, Cup

TTQ; IcjohrrHl* *¥ it SfTtTsf T̂f f̂t ^ %'#3 Wt t̂ c îidi it :
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.1, Option ID :- 177,

. 2, Option ID :- 178,

. 3, Option ID :- 179,

. 4, Option ID :- 180,
 Answer Given:- 4, Option ID : -180

 Subject : CL_Q36-Q40_KPTGTSCI

 Question ID:- 46

Options:-

.1, Option ID :- 181,

. 2, Option ID :- 182,

. 3, Option ID :- 183,

. 4, Option ID :- 184,
 Answer Given:- 3, Option ID : -183

 Question ID:- 47

Options:-

.1, Option ID :- 185,

Which of the following groups of devices are only input devices ?
(1) Keyboard, Monitor, Joystick
(2) Keyboard, Printer, Light pen
(3) Mouse, Scanner, Joystick
(4) Mouse, Microphone, Speaker

PinRlHslcl 3^ ^ (Input device) % ?
(1) HMU<,

(2) fRR, dl^H

(3) ‘RTRT, 'JinRe^h

(4) Hldfl, H l^S h l W) =b<

In computer terminology, DPI stands for :
(1) Dots Per Inch
(2) Devices Per Internet
(3) Drops Per Information
(4) Digitally Persistent Information

'DPI' 3I«f H :

(1)
(2)
(3) R sVfAsfM
(4) PsRlddl
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. 2, Option ID :- 186,

. 3, Option ID :- 187,

. 4, Option ID :- 188,
 Answer Given:- 1, Option ID : -185

 Question ID:- 48

Options:-

.1, Option ID :- 189,

. 2, Option ID :- 190,

. 3, Option ID :- 191,

. 4, Option ID :- 192,
 Answer Given:- 4, Option ID : -192

 Question ID:- 49

Options:-

.1, Option ID :- 193,

. 2, Option ID :- 194,

. 3, Option ID :- 195,

Which of the following is an example of Operating System ?
(1) Edge
(2) Word
(3) Firefox
(4) Android

(1) T&
(2) ^
(3) WR̂ T̂ RT

(4) TTfFT^

Which of the following software you preferred most to write a formal application ?
(1) Microsoft Edge
(2) Microsoft Word
(3) Microsoft Excel
(4) Microsoft Access

( 4i|4d ill'll?H ) % fcT^ 3TN f̂ l ^ TITSlfHdidl ^ ?
(1)
(2) HI^5t>l'HI '•fe

(3) iRRlel
(4) m^stTmT'+d
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. 4, Option ID :- 196,
 Answer Given:- 2, Option ID : -194

 Question ID:- 50

Options:-

.1, Option ID :- 197,

. 2, Option ID :- 198,

. 3, Option ID :- 199,

. 4, Option ID :- 200,
 Answer Given:- 1, Option ID : -197

 Subject : UL_Q41-Q50_KPTGTSCI

 Question ID:- 51

Options:-

.1, Option ID :- 201,

. 2, Option ID :- 202,

. 3, Option ID :- 203,

. 4, Option ID :- 204,
 Answer Given:- 2, Option ID : -202

Kaspersky, McAfee, Norton, etc. are popular examples of :
(1) Anti Viruses
(2) Trojan Horses
(3) Spam Viruses
(4) Worm Viruses

3Tlf^ cTRjfM ^c;i6<ul t ?
(1) cfPRfl

(2) il'Ji'i

(3)
(4) cfFRTT

The 'feeling' is a associated with :
(1) Emotional domain
(2) Affective domain
(3) Cognitive domain
(4) Psychomotor domain

4 *fT̂ TT ’ Pinifaid ^ favU*} t :

(1) 'HlcMK-H'fc &5J

(2)
(3) ^5lMlc+H =t)

(4) H'lPlfd'Jl
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 Question ID:- 52

Options:-

.1, Option ID :- 205,

. 2, Option ID :- 206,

. 3, Option ID :- 207,

. 4, Option ID :- 208,
 Answer Given:- 4, Option ID : -208

 Question ID:- 53

Options:-

.1, Option ID :- 209,

. 2, Option ID :- 210,

. 3, Option ID :- 211,

. 4, Option ID :- 212,
 Answer Given:- 1, Option ID : -209

 Question ID:- 54

What do you understand the term 'growth' ?
(1) It is social change.

(2) It is emotional change.

(3) It is qualitative change.

(4) It is quantitative change.

^^ 3TIWF T̂T C1 ICM4 t?
(1) ^HIHlfadi wRcul’l HI
(2) 'HMdldHdi nfWd 11
(3) ^ M'ftcfcid f I

(4) ^HldlcH=b MR«4 <4H 1? 1

What is not an Objective of Education ?
(1) To find fault with others
(2) To develop values
(3) To earn livelyhood
(4) To serve society

iHHifcbd 3 TT F̂TT t ?
(1) 3RI oMidddi' 3 cfa
(2) ^ fa =bfwd
(3) 3TT5fif5RTT oRT T̂T

(4) HHM
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Options:-

.1, Option ID :- 213,

. 2, Option ID :- 214,

. 3, Option ID :- 215,

. 4, Option ID :- 216,
 Answer Given:- 3, Option ID : -215

 Question ID:- 55

Options:-

.1, Option ID :- 217,

. 2, Option ID :- 218,

. 3, Option ID :- 219,

. 4, Option ID :- 220,
 Answer Given:- 4, Option ID : -220

 Question ID:- 56

In education process which one of the following is difficult to evaluate ?
(1) Teaching methods
(2) Content
(3) Attitudes and values
(4) Physical fitness

fWT % 3 PlHl’Rhd 3^ difdd t ?
(1) tw>r
(2)
(3) ^KUIIH '’JfR
(4) VllOR «=b

Which one of the following is important in 'growth' ?
(1) Dimensions
(2) Development
(3) Social behaviour
(4) Maturation

3 RiHifad f ?
(1) 3PW

(2) faehW
(3) ^iHlFddi
(4) nRH'+cjdl
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Options:-

.1, Option ID :- 221,

. 2, Option ID :- 222,

. 3, Option ID :- 223,

. 4, Option ID :- 224,
 Answer Given:- 2, Option ID : -222

 Question ID:- 57

Options:-

.1, Option ID :- 225,

. 2, Option ID :- 226,

. 3, Option ID :- 227,

. 4, Option ID :- 228,
 Answer Given:- 3, Option ID : -227

 Question ID:- 58

Most of the adolescents in school now a days suffer from :
(1) Neurological disorder
(2) Anxiety disorder
(3) Physical disorder
(4) Auditory disorder

(1)
(2) ^f̂ RTT fa'fck

(3) *ll<lR=h fa=bk

(4) ppr f^R

The teachers in school should extend
(1) Empathy
(2) co-operation
(3) Emotional support
(4) Sympathy

towards adolescents.

falTTcRT % Rh^tU % TTf«T ?
(1)
(2) Tl^TET
(3) klcMIcH'*) TTfpfET

(4) W#
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Options:-

.1, Option ID :- 229,

. 2, Option ID :- 230,

. 3, Option ID :- 231,

. 4, Option ID :- 232,
 Answer Given:- 1, Option ID : -229

 Question ID:- 59

Options:-

.1, Option ID :- 233,

. 2, Option ID :- 234,

. 3, Option ID :- 235,

. 4, Option ID :- 236,
 Answer Given:- 4, Option ID : -236

 Question ID:- 60

Which one of the following hormones causes aggression among the youth ?
(1) Adrenaline
(2) Insulin
(3) Dopamine
(4) Thyroxine

PiHIfed ^ fe î sinld % cbK'Jl Hddii 3llsblHchdl ^Tcft % :

(1)
(2) ^fed
(3)
(4)

Who will form the bridge between the home and school ?
(1) Parents
(2) Students
(3) Teachers
(4) Management

pHHlfed Tl TJfT PdejIel 'M % =FT4 =h^ll ?
(1) wr-f'pn

(2) fegnsff

(3) 31WTTT3T

(4)
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Options:-

.1, Option ID :- 237,

. 2, Option ID :- 238,

. 3, Option ID :- 239,

. 4, Option ID :- 240,
 Answer Given:- 1, Option ID : -237

 Subject : UTL_Q51-Q65_KPTGTSCI

 Question ID:- 61

Options:-

.1, Option ID :- 241,

. 2, Option ID :- 242,

. 3, Option ID :- 243,

. 4, Option ID :- 244,
 Answer Given:- 1, Option ID : -241

 Question ID:- 62

can't be taught, but can be caught through practicing.
(1) Habits
(2) Knowledge
(3) Attitudes
(4) Values

RiniRbd 3^ H <ONI^*TT ^cteiRdi 3 3FTNTR ^^icH^ld felT *TT ^didl

t?
(1) 31T^
(2) m
(3) STfafftFri
(4)

Which type of motivation is better for learning ?
(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Emotional motivation
(4) Progressive motivation

3TRFR % fdHiPhd ^ EIT Sffarfa0!^d< 1? ?
(1) wi'dRcb
(2) «fT^T 3Tf̂ r
(3) ^|c)dlcH=h 3#T5iRI
(4) 'STRITR y'lfd^d arfafrpjr
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Options:-

.1, Option ID :- 245,

. 2, Option ID :- 246,

. 3, Option ID :- 247,

. 4, Option ID :- 248,
 Answer Given:- 1, Option ID : -245

 Question ID:- 63

Options:-

.1, Option ID :- 249,

. 2, Option ID :- 250,

. 3, Option ID :- 251,

. 4, Option ID :- 252,
 Answer Given:- 1, Option ID : -249

 Question ID:- 64

Which one of the following would enhance learning process in classroom ?
(1) Effective use of Black Board
(2) Less number of students in class
(3) Magnetic personality of teacher
(4) Comfortable furniture

faHILbci 3Ti
(1) oel'Wli BiT BBTBt TT̂ fnT
(2) BiSJT 3 fac^ifsHf BtsB

(3) 3PBTTTT 3Tl =Fnfai faded
(4) 3TRTR^!> TRfaR

STfanq 7̂1 ffa «^d ^THT ?

'The child falls many times while learningcycling'. Which learning theory you think can be atributed
this event ?
(1) Trial and error theory of learning
(2) Law of readiness
(3) Insight learning
(4) Perspective learning

1 -ciciHl dlisfa % WR

(1) 3TfaFTB BiT 3PTTB RR fal4ld

(2) dcH <dl B)T faPTB
(3) SRTffe BfWT
(4) BfaPTB

dlddi ^ BR ta %’ taT fanifaid 33 fâ *} M 3 3TRTT t ?
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Options:-

.1, Option ID :- 253,

. 2, Option ID :- 254,

. 3, Option ID :- 255,

. 4, Option ID :- 256,
 Answer Given:- 2, Option ID : -254

 Question ID:- 65

Options:-

.1, Option ID :- 257,

. 2, Option ID :- 258,

. 3, Option ID :- 259,

. 4, Option ID :- 260,
 Answer Given:- 3, Option ID : -259

 Question ID:- 66

As per psychology what should be the best relationship between the teacher and child ?
(1) Official relation
(2) Supportive and emotional relation
(3) Social relation
(4) Cordial relation

^ ?)FtT ?
(1)
(2) 3?K WI

(3) UIHlfacb IR**
(4) ^Wl^i q®R

Do you think highly qualified teacher always a successful teacher ?
(1) Yes
(2) No
(3) Not necessary
(4) Less qualified teachers are successful

3TN%7 fcMK *¥ Wfl 3^ SfWJPRi TPTKTT ^ f > ?
(1) f
(2) HSf
(3) qj^ %
(4) 'dR qbqdRIvt 3TRTW Mid f
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Options:-

.1, Option ID :- 261,

. 2, Option ID :- 262,

. 3, Option ID :- 263,

. 4, Option ID :- 264,
 Answer Given:- 4, Option ID : -264

 Question ID:- 67

Options:-

.1, Option ID :- 265,

. 2, Option ID :- 266,

. 3, Option ID :- 267,

. 4, Option ID :- 268,
 Answer Given:- 3, Option ID : -267

 Question ID:- 68

If a parent wants to get admission for their child in a school, they should look for :
(1) Attractive Building
(2) Air condition Buses
(3) Big play Ground
(4) Good organizational climate

^1 l̂ vFft fayicl 'M *¥ 'ST^F fcdlMI -dl^dl 1? cfl Tjft PlMlfed it
=b<dl I

(1) 371̂ 7^37 "HcM

detw

(2) ^ Idl^ftrtd 7̂7

(3) ŜT 7ic7

(4) fldcii 3dH HR̂ I

If the children take educational tour to a local museum, they develop
(1) Anxiety
(2) Interest
(3) Curiosity
(4) Enjoyment

^ ffclR'Id-) 3TKPET^''R ÎTct f eft f77% R̂7*t Wfl fddiRnd ftWsftnt ?
(1)
(2) 3#7^
(3) 3r =̂hdl

(4)
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Options:-

.1, Option ID :- 269,

. 2, Option ID :- 270,

. 3, Option ID :- 271,

. 4, Option ID :- 272,
 Answer Given:- 1, Option ID : -269

 Question ID:- 69

Options:-

.1, Option ID :- 273,

. 2, Option ID :- 274,

. 3, Option ID :- 275,

. 4, Option ID :- 276,
 Answer Given:- 2, Option ID : -274

 Question ID:- 70

How you would provide meaningful learning space in school ?
(1) Well qualified teachers with warmth to support children
(2) Well equipped classrooms with teaching aids
(3) Comfortable furniture
(4) Air condition rooms

3TN if srfwr W3 "SRH ?
(1) WRFt WFTcfl i-lfHpdd

(2) WSJ 3^fST§T°T 'WIHiil
(3) ‘hdl'cK

(4) qidl^fcld ^51

To arouse scientific temper among the children what should the teacher do in classroom ?
(1) Group discussion
(2) Conducting experiment in class
(3) Lecture method
(4) Reading the text

«Hd =hl 3TU( iqch *¥ 7̂1 -dlfey, ?
(1) Trq?3
(2) 3#T ^RT

(3) oWsTH fafa
(4) 'irdqyw* TS3T
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Options:-

.1, Option ID :- 277,

. 2, Option ID :- 278,

. 3, Option ID :- 279,

. 4, Option ID :- 280,
 Answer Given:- 4, Option ID : -280

 Question ID:- 71

Options:-

.1, Option ID :- 281,

. 2, Option ID :- 282,

. 3, Option ID :- 283,

. 4, Option ID :- 284,
 Answer Given:- 4, Option ID : -284

 Question ID:- 72

Why text books are required for learning ?
(1) Students are comfortable with text book knowledge
(2) Since prescribed by the authority
(3) Gives directions to the exam
(4) It would guide the teacher to confine to the syllabus

(1) H^dl^cfob W7? f I

(2) TffftMRt gTCT fafed 11
(3) Ttfejl f̂ v?T <1401®*!i?tcTI % I

(4) 31W||L|cb HldMshH Mi Ulfad % f^TO; Ml ^fa^d TIM t^PlT I

According to educationists the curriculum should be
(1) Management oriented
(2) Parent oriented
(3) Teacher oriented
(4) Goal oriented

f?I*M % 3TJ?fR ITft ellfeM,

(1) <J^<sfl
(2)
(3) 31«TTW

(4)

I
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Options:-

.1, Option ID :- 285,

. 2, Option ID :- 286,

. 3, Option ID :- 287,

. 4, Option ID :- 288,
 Answer Given:- 4, Option ID : -288

 Question ID:- 73

Options:-

.1, Option ID :- 289,

. 2, Option ID :- 290,

. 3, Option ID :- 291,

. 4, Option ID :- 292,
 Answer Given:- 2, Option ID : -290

 Question ID:- 74

When child is admitted in Primary School, which learning theory is attributable for his/ her
learning :
(1) Law of effect
(2) Law of trial and error
(3) Law of readiness
(4) Stimulus-response theory

fdvHl ^TTPlfiRi fasJIcrl 'H 3 dHIcM 1? if! Î 1HlT=hd *¥ ^ 3Tf%PFT
fth&ld 13%R % ?
(1) V'm iwr
(2) 3T^TR4 aHr l|fe
(3) dcM <cll fwr
(4) '3^hpT-3Tjf^RT f^<Sld

The constructive method of teaching and learning would empower
(1) Teacher
(2) The child
(3) Principal
(4) Librarian

3T^N«t> 3?P 3Tf*PTP f -cHlcHch fafa ^ fHHif =bd P f̂cff % ?
(1) 3PRFRT

(2) did1*
(3) W3Pf
(4) vTT?%fRFF
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Options:-

.1, Option ID :- 293,

. 2, Option ID :- 294,

. 3, Option ID :- 295,

. 4, Option ID :- 296,
 Answer Given:- 3, Option ID : -295

 Question ID:- 75

Options:-

.1, Option ID :- 297,

. 2, Option ID :- 298,

. 3, Option ID :- 299,

. 4, Option ID :- 300,
 Answer Given:- 3, Option ID : -299

 Subject : CCLE_Q66-Q80_KPTGTSCI

 Question ID:- 76

What is the main disadvantage of ICT application in classroom ?
(1) Thinking skills are hampered
(2) Straining of eyes
(3) ICT tools are costly
(4) Always depends on technology

if ^ Zt 3FJ5T%T k W %?
(1) cbNld ^TfMcT ^tcTT % I

(2) 3TRsff RT 1? I

(3) 3Trf Tfl Zf ZT^FvRTf $lcl ^ I

(4) Tfc r̂ tfrefifwl T* kr*k URT 11

For improvement of the performance of the teachers they should resort to :
(1) pursuing higher qualification.
(2) attending seminars.
(3) taking feed back from the children
(4) thorough reading before coming to the class.

31̂ MlH =bl % if % feRT PlHlfod if if fch <H =t> l 3TI5R HZI ?
(1) Ẑ RR 4lJ <Mdl UTRT TRZT

(2) kkHRf if *TFT #TT

(3) ®He1=bl if RTO oRTTT

(4) W if 37T% if ^CfPRR 3R35RFT
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Options:-

.1, Option ID :- 301,

. 2, Option ID :- 302,

. 3, Option ID :- 303,

. 4, Option ID :- 304,
 Answer Given:- 1, Option ID : -301

 Question ID:- 77

Options:-

.1, Option ID :- 305,

. 2, Option ID :- 306,

. 3, Option ID :- 307,

. 4, Option ID :- 308,
 Answer Given:- 4, Option ID : -308

 Question ID:- 78

Persons with Disabilities Act 1995 came into force with effect from :
(1) January 1996
(2) February 1995
(3) March 1996
(4) April 1995

STfafWl, onfael 3tMWJ) 1995 ?
(1) 1996

(2) Wilt, 1995

(3) W$, 1996

(4) 3tfeT, 1995

When the child is found in the classroom with impaired handwriting the reason could be :
(1) Autism
(2) Apraxia
(3) Dyslexia
(4) Dysgraphia

<s|M=b if T̂facT T̂TTI HI qPTT ÎMT t eft =hKul "ft ^=t>dl t?
(1)
(2) 3T^f̂ FPTT

(3) 'foF^RPTI

(4) feWilMl
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Options:-

.1, Option ID :- 309,

. 2, Option ID :- 310,

. 3, Option ID :- 311,

. 4, Option ID :- 312,
 Answer Given:- 2, Option ID : -310

 Question ID:- 79

Options:-

.1, Option ID :- 313,

. 2, Option ID :- 314,

. 3, Option ID :- 315,

. 4, Option ID :- 316,
 Answer Given:- 4, Option ID : -316

 Question ID:- 80

Which is the most common mental impairment among the children ?
(1) Depression
(2) ADHD
(3) Maladjustment
(4) Anxiety

TR PlHl'fVjd ^ # fa=t>K RFTT T̂RTT % ?
(1) SPW
(2)
(3)

(4) sRWdl

Name the program recently launched by Ministry of Education to help the students suffering from
mental illness :
(1) School Health Program
(2) Manodarpan
(3) Health for all Program
(4) AEP

HHfU <=h ^ ulc1l ^ TTPT WHf WPPTT % ffpf #319T8JT HdM -4 IJKT fHHlT=b'd "3^ ^Ef-RT CR4*'H
?^f R̂TTTRTt ?
(1) =t>l4st»H

(2) HdMul
(3) Wit % fcTtr ch|4shM

(4) T f i t i.
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Options:-

.1, Option ID :- 317,

. 2, Option ID :- 318,

. 3, Option ID :- 319,

. 4, Option ID :- 320,
 Answer Given:- 3, Option ID : -319

 Question ID:- 81

Options:-

.1, Option ID :- 321,

. 2, Option ID :- 322,

. 3, Option ID :- 323,

. 4, Option ID :- 324,
 Answer Given:- 4, Option ID : -324

 Question ID:- 82

What is the major challenge in school to address mental health issue among children ?
(1) Lack of Professional Experts
(2) Lack of funds
(3) Lack of awareness
(4) Lack of time

^K1=hi % FHC) HU|ff 0^^Idl W 1? ?
(1)
(2)
(3) WT R̂KTI 3PTR

(4) TIWTR

Visiting local bank by the students would amount to
(1) Parent student relationship
(2) Teacher student relationship
(3) Home community relationship
(4) Student public relationship

f^nfsfcrt wnfPr ^PT RiniRbci MR -CIR ** t ?
(1) arfwrer feraraf
(2)
(3) TJF TT5?PT TPW

(4) fwpff fk4) K TPPI
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Options:-

.1, Option ID :- 325,

. 2, Option ID :- 326,

. 3, Option ID :- 327,

. 4, Option ID :- 328,
 Answer Given:- 2, Option ID : -326

 Question ID:- 83

Options:-

.1, Option ID :- 329,

. 2, Option ID :- 330,

. 3, Option ID :- 331,

. 4, Option ID :- 332,
 Answer Given:- 1, Option ID : -329

 Question ID:- 84

What is the best kind of leadership in school education ?
(1) Autocratic relationship
(2) Democratic relationship
(3) Servant leadership
(4) Transformation leadership

fWF %?
(1)
(2) dl=bd!fa«b

(3)
(4)

What should be the main objective of 'Institutional planning' ?
(1) Optimum utilization of living and nonliving resources
(2) Academic excellence
(3) Procurement of new assets
(4) To get social recognition

1
'H ^&llPlch 3PTRH ctAll I?RT ?

(1) ^dH -iH'Mld

(2) ftelfaeh
(3) Rsf 3tlfkl4T
(4) TITRTf^RT MI"Mdl TRT 3PRT
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Options:-

.1, Option ID :- 333,

. 2, Option ID :- 334,

. 3, Option ID :- 335,

. 4, Option ID :- 336,
 Answer Given:- 2, Option ID : -334

 Question ID:- 85

Options:-

.1, Option ID :- 337,

. 2, Option ID :- 338,

. 3, Option ID :- 339,

. 4, Option ID :- 340,
 Answer Given:- 3, Option ID : -339

 Question ID:- 86

What is the significance of morning assembly ?
(1) To conduct cultural activities
(2) To promote discipline among the children
(3) To communicate the information
(4) It is part of time table

W:=bicih W i? ?
(1) fHVbfa =h =bl4sb4f Til

(2) ^Idchi ®( Cpl <=||
(3) ?̂JyRT *iifaul
(4) ^TFR TTRTTl 3T?T t

Why schools should be assessed ?
(1) To get social recognition
(2) To get funds from donors
(3) To know the strong and weak areas of the school
(4) Self publicity

fay Id41' WIT ?
(1) ^Hlfach HMdl W ĉf ^(2) <H «+idf3Tf ^fifaWT IjaFl
(3) T^Td % Û d sfk W
(4) 3PPTT
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Options:-

.1, Option ID :- 341,

. 2, Option ID :- 342,

. 3, Option ID :- 343,

. 4, Option ID :- 344,
 Answer Given:- 4, Option ID : -344

 Question ID:- 87

Options:-

.1, Option ID :- 345,

. 2, Option ID :- 346,

. 3, Option ID :- 347,

. 4, Option ID :- 348,
 Answer Given:- 1, Option ID : -345

 Question ID:- 88

What the school should do to improve teachers performance ?
(1) Incentive to teachers
(2) Better service conditions
(3) By giving less work load
(4) Deputing all teachers to inservice course on regular basis

eTT f̂ % W ?
(1) ^ jftcHISH 7jf?f

(2) ifof ?lif
(3) F̂fBR 37B

(4) RTBt 3T̂ IM =hl ^ PIBPHCI ctildl -l Riftf % HplPl^=K1 R̂RT

The pairing of two neighboring schools would help
(1) sharing the resources for better learning
(2) in reducing the burden of admission
(3) in exchanging the teachers
(4) conducting common sport activities

Tf PlMlPdicI ^ PbBR WPTrfT fB#ft ?
(1) 3#FTB % f̂ r

(2) dHl
'
dvl % Rif RFT

(3) 3Tt4) lH =hl % 3HlRM TRTR
(4) itcl =bl4sbBl Trn?TT =R^ 3
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Options:-

.1, Option ID :- 349,

. 2, Option ID :- 350,

. 3, Option ID :- 351,

. 4, Option ID :- 352,
 Answer Given:- 2, Option ID : -350

 Question ID:- 89

Options:-

.1, Option ID :- 353,

. 2, Option ID :- 354,

. 3, Option ID :- 355,

. 4, Option ID :- 356,
 Answer Given:- 3, Option ID : -355

 Question ID:- 90

NCF, 2005 focuses on .
(1) to recruit qualified teachers
(2) learning without burden
(3) to improve ambience of the school
(4) to promote sports education

HlchJ -cil 'qf 20053 PlHlfaid *¥ Ff fqRf qi qcl f^TT "W %?
(1) qt^%$iq?f qft FH^PM °fv[^ qr

(2) ifor srfwi qi

(3) fallen qq IjqFRl qi

(4) sfft^r—f T̂ n̂ y <n q>r̂ qr

According to RTE Act, 2009 what should be the age of the children ?
(1) 1 - 8 years
(2) 0 - 6 years
(3) 6 - 14 years
(4) 0 - 18 years

f T̂^TT qq srfqqqi srfqfqqq, 2009 % 3TjqR qft STRJ fq> dHl $Hl ?
(1) 1 - 8^
(2) 0 - 6 q^
(3) 6 - 14 q^
(4) 0 - 18 q^
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Options:-

.1, Option ID :- 357,

. 2, Option ID :- 358,

. 3, Option ID :- 359,

. 4, Option ID :- 360,
 Answer Given:- 3, Option ID : -359

 Subject : SCI_Q81-Q180_KPTGTSCI

 Question ID:- 91

Options:-

.1, Option ID :- 361,

. 2, Option ID :- 362,

. 3, Option ID :- 363,

. 4, Option ID :- 364,
 Answer Given:- 1, Option ID : -361

 Question ID:- 92

According to NEP 2020, what is the minimum age of child to get admission in formal school ?
(1) 4 years
(2) 5 years
(3) 6 years
(4) 3 years

%8ifT ¥ 1̂%, 2020% ^ f̂ fTcPT 3PJ WR % ?
(1) 4 mf
(2) 5 m*
(3) 6 m*
(4) 3 m*

Which physical property would be most useful for determining whether two samples of metal are
the same or not ?
(1) Mass
(2) Volume
(3) Colour
(4) Density

m3 % ^ t?* m3% % m m?f mr ^ fhn ?
(l) S^HM

(2) snrnn
(3) *1

(4)

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 365,

. 2, Option ID :- 366,

. 3, Option ID :- 367,

. 4, Option ID :- 368,
 Answer Given:- 3, Option ID : -367

 Question ID:- 93

At room temperature and 1 atm pressure, the molecules are farthest apart in :
(1) Chlorine
(2) Bromine
(3) Iodine
(4) Water

% cllHHM 3fR 1 atm "RT "SR ^ 'glct If ?
(1) 'tdkli
(2) sfcfcT
(3) STRTTsfa
(4)

The melting and boiling points (in °C) of some elements are given in the table below :

Element Mercury Phosphorus Radon Gallium

Melting point
Boiling point

-39 -71 3044

357 280 -62 2400

How many of these elements are solids at 25°C and1 atm pressure ?
(1) 0
(2) 1
(3) 2
(4) 3

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 369,

. 2, Option ID :- 370,

. 3, Option ID :- 371,

. 4, Option ID :- 372,
 Answer Given:- 2, Option ID : -370

 Question ID:- 94

Options:-

.1, Option ID :- 373,

. 2, Option ID :- 374,

. 3, Option ID :- 375,

. 4, Option ID :- 376,
 Answer Given:- 3, Option ID : -375

 Question ID:- 95

cTc t̂ % deHl
'
di 3?K (°C3) ^^dlfeldil ^f I

MilfM-jU-H ^SH J1fcHi< 93R tTRT

-39 44 -71 30JleHI=h

Rt^didi 357 280 -62 2400

fohd'l 3R 25 fsift ^Pe^rN -H 3tft1atm ^R R 3R f ?
(1) 0
(2) 1
(3) 2
(4) 3

During the process of boiling of pure water in a beaker, the bubbles that initially rise to the surface
are composed primarily of :
(1) Air
(2) Hydrogen
(3) Hydrogen and Oxygen
(4) Water Vapour

Ret 3 -Riel'} R)t 3tfaRT ”^3 R>t 3tk 33^ Rid «£ei^e) ^oMd: W\ftcT f ?
(1)
(2)
(3) 3HT=KPI -JM

(4) ReRIR
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Options:-

.1, Option ID :- 377,

. 2, Option ID :- 378,

. 3, Option ID :- 379,

. 4, Option ID :- 380,
 Answer Given:- 4, Option ID : -380

 Question ID:- 96

Options:-

.1, Option ID :- 381,

. 2, Option ID :- 382,

. 3, Option ID :- 383,

. 4, Option ID :- 384,
 Answer Given:- 4, Option ID : -384

 Question ID:- 97

Which one of the following is an exothermic process ?
(1) Ice melting
(2) Boiling soup
(3) Ammonium theocyanate and Barium hydroxide are mixed at 25°C, the temperature drops
(4) Condensation of water vapour

PinfdRsid "*¥ ^ RT ysfrH % ?

(1) ^
(2) <4®iddl ^3TI

(3) SptlfWT STRlTcrrî Z 3fR 'IrfWFI ^ fadA RF cTPTBH W31

(4) ddull'd WH

What statement describes a chemical property ?
(1) Its crystals are a metallic grey.
(2) It dissolves in alcohol.
(3) It forms a violet coloured gas.
(4) It reacts with hydrogen to form a gas.

<=hH RT TRTBlfd̂ ^ul c< uf^ cfc<c1l ^?
(1) sRT% fsbdid £||fcd=b *£FR f I

(2) Rs? $Td 3 ^TlcTT % I

(3) ^5 Th "fal «Hldl % I

(4) R!? ^ 3#rf̂ RfI 3R %T oRTrfT % I

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 385,

. 2, Option ID :- 386,

. 3, Option ID :- 387,

. 4, Option ID :- 388,
 Answer Given:- 4, Option ID : -388

 Question ID:- 98

Options:-

.1, Option ID :- 389,

. 2, Option ID :- 390,

. 3, Option ID :- 391,

. 4, Option ID :- 392,
 Answer Given:- 3, Option ID : -391

 Question ID:- 99

What is the total number of atoms (atomicity) represented in a compound having formula
MgS04-7 H20 ?
(1) 6
(2) 8
(3) 21
(4) 27

MgS04-7 H,0 'g R T ^ 'MlPl'b HO'-II ( H <Hl^dl ) Phclil % ?
(1) 6
(2) 8
(3) 21
(4) 27

A bus is accelerating uniformly as it passes two checkpoints that are 60 m apart. The time taken
between the checkpoint is 6 s and the speed of the bus at the second checkpoint is 16 ms-1. The
speed of the bus at the first checkpoint is :
(1) 4 ms
(2) 8 ms
(3) 12 ms-1

(4) 16 ms-1

-l
-l

60 m gl) Tl fPTcT 'gt 4lP+)4l % ^ TTRT TR T?ff % I ‘sfTcf
6 s % cT«n c£Flfl RfN 4l =hl T[ T̂IR 16 ms

_
1t I Rfef) "SlNf ^ 4l =hl Rl 1̂ ÎTR % ?

(1) 4 ms-1

(2) 8 ms-1

(3) 12 ms
(4) 16 ms-1

-l
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Options:-

.1, Option ID :- 393,

. 2, Option ID :- 394,

. 3, Option ID :- 395,

. 4, Option ID :- 396,
 Answer Given:- 2, Option ID : -394

 Question ID:- 100

Options:-

.1, Option ID :- 397,

. 2, Option ID :- 398,

. 3, Option ID :- 399,

An elevator is moving downward in the shaft at 4 m/s when a nut from the bottom of the elevator
comes out and strikes the bottom of die shaft in1 s. The height of elevator from the bottom of the
shaft when the nut just fell off is : (Take acceleration due to gravity as 10 m/s2)
(1) 1 m
(2) 4 m
(3) 9 m
(4) 14 m

WR 3 4 m/s^ ^ 'ifdHM faRTt ^ Pl -cidl TRTs? Tf faciei 'SITcTT 1? *fl WE
"^R 1 s*¥ <d«=b<ldl % ITS % sTTiR facM buff TFRT

rc(<ul = 10 m/s2)
(1) lm
(2) 4 m
(3) 9 m
(4) 14 m

fd'+d w cTcTt ^ cMlf W sff ?

A ball after falling from rest under the influence of gravity for 4 s falls on a horizontal glass plate.
Because of collision, the ball looses three fourth of its velocity. If the ball reaches the ground 2 s
after the collision, the height of the glass plate above the ground will be : (Take g =10 ms-2)
(1) 60 m
(2) 40 m
(3) 30 m
(4) 20 m

% "swra £? fcRlH ^ pKdl if Tfe 4 s % M^-dld Pfrdl ^ i=h<!dl % I fR diK^I ^%
3#1^f «Tlf =FRt fl ^nift f I "qfc^ 2 s M5MM T? t, <fl ^ ^ =Ft f̂lf

wt ? (g =10 ms-2)
(1) 60 m
(2) 40 m
(3) 30 m
(4) 20 m
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. 4, Option ID :- 400,
 Answer Given:- 4, Option ID : -400

 Question ID:- 101

Options:-

.1, Option ID :- 401,

. 2, Option ID :- 402,

. 3, Option ID :- 403,

. 4, Option ID :- 404,
 Answer Given:- 2, Option ID : -402

 Question ID:- 102

Options:-

.1, Option ID :- 405,

. 2, Option ID :- 406,

. 3, Option ID :- 407,

. 4, Option ID :- 408,
 Answer Given:- 3, Option ID : -407

The softness of a sound wave is determined by its :
(1) Speed
(2) Amplitude
(3) Frequency
(4) Wavelength

fcciPi CKJI «f >t *^^di gi< i fr̂ fRci ^Tcft %?
(1) »1

(2) 3TFTFR

(3) 3TFff%
(4) cKJl <W

Which one of the following is a fundamental conservation law ?
(1) Conservation of energy
(2) Conservation of momentum
(3) Conservation of mass
(4) Conservation of mechanical energy

PlMfclRad 3 Tf F̂l TIT TJePjcf t ?

(1) 3T# TTOT

(2) Tf%rT TTW°T

(3) T1W
(4) 'MlBl'h "Swlt
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 Question ID:- 103

Options:-

.1, Option ID :- 409,

. 2, Option ID :- 410,

. 3, Option ID :- 411,

. 4, Option ID :- 412,
 Answer Given:- 4, Option ID : -412

 Question ID:- 104

Options:-

.1, Option ID :- 413,

. 2, Option ID :- 414,

. 3, Option ID :- 415,

. 4, Option ID :- 416,
 Answer Given:- 3, Option ID : -415

A 4 kg object is moving at a speed of 5 m/s. The constant force needed to stop the object in
5xl0-4 s will be :
(1) + 4 x10 +4 N in the direction of motion.
(2) + 20 N in the direction of motion.
(3) +100 N in the opposite direction of motion.
(4) + 4 x 104 N in the opposite direction of motion.

4 kg fTS 5 m/s^f M̂^TTfcf H?T HI fTS 5 x 10 4 s f R̂TcT

^crT ^> f TFT '^PTF ?
(1) + 4 X 10+ 4 N

(2) TTfcl ^ f^IT ^ + 20 N

(3) ^^ Rwfld f^TT 3 100 N

(4) TTfct fanOd t^TT 3 + 4 x 104 N

All the following masses are possible for an individual Carbon atom except one. The impossible
one is :
(1) 12.00000 u
(2) 12.01115 u
(3) 13.00335 u
(4) 14.00324 u

( olir̂ ld ) ^#1 LKHI|J|% fcTi TJoF S$fs=t>< PinRlRdd d°dHM 11
^to +nt ?
(1) 12.00000 u
(2) 12.01115 u
(3) 13.00335 u
(4) 14.00324 u
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 Question ID:- 105

Options:-

.1, Option ID :- 417,

. 2, Option ID :- 418,

. 3, Option ID :- 419,

. 4, Option ID :- 420,
 Answer Given:- 1, Option ID : -417

 Question ID:- 106

Options:-

.1, Option ID :- 421,

. 2, Option ID :- 422,

. 3, Option ID :- 423,

. 4, Option ID :- 424,
 Answer Given:- 1, Option ID : -421

 Question ID:- 107

On heating,C1207 decomposes tofonnCl2 and02. What is the ratio of Chlorine toOxygenmolecules
in the product ?
(1) 2 : 7
(2) 2 : 14
(3) 3 : 7
(4) 7 : 2

^ H Cl2Oy spmfer a2 0? «RMlt I if ckrfl'O'l % 3Pg3Tf CHTCKHI ^H % 3PJ3Tf %
3RT1> ?

(1) 2 : 7
(2) 2 : 14
(3) 3 : 7
(4) 7 : 2

The scattering of a-particles by thin metal foils establishes that :
(1) The mass and positive charge of an atom are concentrated in a nucleus.
(2) Electrons are fundamental particles of all matter.
(3) All electrons have the same charge.
(4) Atoms are electrically neutral.

*TTcJ Heidi xPlt gKT a- r̂off ^WffHh T̂ciT t? %
(1) r=hhl WTPJ^>T 3|R 3TT%9I "3*1% hrfiw if %fgcT^f
(2) 4crl4dM ^T°l 1?

(3) 3TT%T TRH s?RT[ %
(4) WPJ f

:
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Which one of the following graphs cannot be a correct displacement(s) - time(t) variation for the
motion of a particle ?

s
t

(1)
O

t —

(2)

(3)

t -
s
t /1̂

(4)
o

t -

TTPhf Tl cpfa TIT QcFT ^ Tfrf % foTT* fq^NH (s) - (t) ^FT TTft ^Tfl T?l TT=FK1T ?
s
t

(1)
O t

(2)

(3)

t -
s
t

(4)
o

t -
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Options:-

.1, Option ID :- 425,

. 2, Option ID :- 426,

. 3, Option ID :- 427,

. 4, Option ID :- 428,
 Answer Given:- 4, Option ID : -428

 Question ID:- 108

Options:-

.1, Option ID :- 429,

. 2, Option ID :- 430,

. 3, Option ID :- 431,

. 4, Option ID :- 432,
 Answer Given:- 2, Option ID : -430

 Question ID:- 109

The workdone needed to move a body of 2.0 kg from an elevation of 1 m to an elevation of 10 m,
against the gravitational field of the earth is : (take g =10 m/s2)
(1) 20 J
(2) 180 J
(3) 200 J
(4) 220 J

%^ccfl'q ^T5[ % 2.0 kg oRg t̂ l m ^1^ ^10 m cRT^ WFl %
6)JII ? (g =10 m/s2

(1) 20 J
(2) 180 J
(3) 200 J
(4) 220 J

A bullet having a speed of 160 m/s passes through a plank of wood. After passing through the
plank, its speed is 140 m/s. Another bullet, of the same mass and size but travelling at 60 m/s, is
fired at the plank. Assuming that the resistance of the plank is independent of the speed of the
bullet, the second bullet's speed after tunneling through will be nearly equal to :
(1) 24 m/s
(2) 40 m/s
(3) 49 m/s
(4) 60 m/s
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Options:-

.1, Option ID :- 433,

. 2, Option ID :- 434,

. 3, Option ID :- 435,

. 4, Option ID :- 436,
 Answer Given:- 3, Option ID : -435

 Question ID:- 110

Options:-

.1, Option ID :- 437,

. 2, Option ID :- 438,

. 3, Option ID :- 439,

. 4, Option ID :- 440,
 Answer Given:- 1, Option ID : -437

 Question ID:- 111

160 m/s =fft Weill JlRlHH T^TTTeTt fartft eW l̂ % eRMlli?WT^lefl tlWsrfil % H^ld Tteft =Fft Wei
140 m/s sft Weft % I URN tfoMMH cfW 3IM =fft $PT’fteft^60 m/s =lft Wei JlldHH t, eTC§rF R1 P̂lt
Weft 1? 1 W? WW^% eR§l Wi Trfftft*!ftteft W) Wei R7 wft WTeli, eft eRift Wt %T?Wef^wft ftt#wt
Wei Wi Pl =hielH "RH H :
(1) 24 m/s
(2) 40 m/s
(3) 49 m/s
(4) 60 m/s

A boy throws a 0.2 kg stone from the top of a 15 m cliff with a speed of 20 m/s in downwards
direction. The kinetic energy of the stone when it lands in a river below will be :
(Take g =10 m/s2)
(1) 0
(2) 30 J
(3) 40 J
(4) 70 J

"QW el'S=bl T3W 0.2 kg % TJW WW f^Rsft 15 m 'sNft 20 m/s Wl Wei Wl 3ftl "ftWelT % l Tfft
ftTlft WW Re«R Wt hfeRST W5lf WTT^ftft ? ( g =10 m/s2 eftfWT )

(1) 0
(2) 30 J
(3) 40 J
(4) 70 J
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Options:-

.1, Option ID :- 441,

. 2, Option ID :- 442,

. 3, Option ID :- 443,

. 4, Option ID :- 444,
 Answer Given:- 4, Option ID : -444

 Question ID:- 112

Options:-

.1, Option ID :- 445,

. 2, Option ID :- 446,

. 3, Option ID :- 447,

. 4, Option ID :- 448,
 Answer Given:- 3, Option ID : -447

A 0.5 kg ball falls pas a window, whose top is 1.8 m in vertical extent from the ground. If the speed
of the ball at the top of the window is 8 m/s, its speed at the ground will be :
(Take g=10 m/s2)
(1) 10 m/s
(2) 8 m/s
(3) 6 m/s
(4) 5 m/s

0.5 kg M 1TTCI ^ 1.8 m Tf i?RR % I Rsl-S=hl %
Tl 'lid 8 m/s <s*l=hl *jf*T TT -̂ I d H : ( g=10 m/s2 )
(1) 10 m/s
(2) 8 m/s
(3) 6 m/s
(4) 5 m/s

How many protons, neutrons and electrons are there in the Ten ion 1^Sn2+ ?

(1) 119 protons, 50 neutrons, 119 electrons.
(2) 50 protons, 69 neutrons, 50 electrons.
(3) 50 protons, 69 neutrons, 48 electrons.
(4) 69 protons, 50 neutrons, 67 electrons.

tcR 3TFH ^Sn24"^ t? ?

(1) 119 yfiM, 50 119

(2) 50 yVd, 69 ^M, 50

(3) 50 TJteH, 69 48 $crl=KM

(4) 69 litZH, 50 67
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 Question ID:- 113

Options:-

.1, Option ID :- 449,

. 2, Option ID :- 450,

. 3, Option ID :- 451,

. 4, Option ID :- 452,
 Answer Given:- 1, Option ID : -449

 Question ID:- 114

Options:-

.1, Option ID :- 453,

. 2, Option ID :- 454,

. 3, Option ID :- 455,

. 4, Option ID :- 456,
 Answer Given:- 2, Option ID : -454

 Question ID:- 115

Atom T has 3 valence electrons and atom S has 6 valence electrons. The formula expected for an
ionic compound of T and S is :
(1)
(2) T3S2
(3) TS2
(4) TjS

H <HI^ T *¥ 3 f H <Hl^ S 6^'ddidl f I T 3?R S % 4lPl<*) %
3TlfSJcf lj5f % :

(1) T£J
(2) T3S2
(3) TS2
(4) T.S

Which one of the following physical quantity is not a constant ?
(1) Mass of an elementary particle
(2) Weight of an object
(3) Permitivity of vacuum
(4) Speed of light in free space

fp=rf¥t3ci m H*T t?
(1) fersft ijyf F̂>°I

(2) fept ftfS ^F>T

(3) Pl îd f^cRftvRTI/1TO^cff̂
(4) ^ 3 WRI
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Options:-

.1, Option ID :- 457,

. 2, Option ID :- 458,

. 3, Option ID :- 459,

. 4, Option ID :- 460,
 Answer Given:- 2, Option ID : -458

 Question ID:- 116

Options:-

.1, Option ID :- 461,

. 2, Option ID :- 462,

. 3, Option ID :- 463,

. 4, Option ID :- 464,
 Answer Given:- 4, Option ID : -464

 Question ID:- 117

A boy having a mass of 60 kg holds in his hands a bag weighing 30 N. The force with which the
floor push upon his feet will be : (Take g =10 m/s2)
(1) 90 N
(2) 360 N
(3) 630 N
(4) 900 N

60 kg RT 30 N RR RiT % I R>?f £RI ^Rt Rl ^TR R>t 3lR
RR1T ReT #TT : ( g=10 m/s2 )
(1) 90 N
(2) 360 N
(3) 630 N
(4) 900 N

An 120 kg metal cylinder 2.5 m long and with each end of area 40 cm2 stands vertically on one
end. The pressure exerted by the cylinder on the floor will be : (Take g =10 ms-2)
(1) 480 N/m2

(2) 7.5 xlO4 N/m2

(3) 12 xl04 N/m2

(4) 3x 105 N/m2

120 kg R>T RR 2.5 m RF®fT fclRluS< fRRRT f?RT 40 cm2 STTTCT RT %, RR % RTR
IPRtRRf: URT % l I»RT R f̂ Rt RRffRcT RTR “t : (g =10 ms-2 ellfalR)
(1) 480 N/m2

(2) 7.5 XlO4 N/m2

(3) 12 XlO4 N/m2

(4) 3xlO5 N/m2

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 465,

. 2, Option ID :- 466,

. 3, Option ID :- 467,

. 4, Option ID :- 468,
 Answer Given:- 2, Option ID : -466

 Question ID:- 118

Options:-

.1, Option ID :- 469,

. 2, Option ID :- 470,

. 3, Option ID :- 471,

. 4, Option ID :- 472,
 Answer Given:- 3, Option ID : -471

 Question ID:- 119

A hydraulic lift in a service station has a large piston 30 cm in diameter and a small piston 3 cm in
diameter. The force required on the small piston to lift a load of 2000 kg will be : (g =10 m/s2)
(1) 200 N
(2) 400 N
(3) 600 N
(4) 2000 N

ferft TMU A-ryFT 3 ŝ -cjifc^cl idl'd 330 cm T̂RT cT®TT 3cm 'STRT pH«.i M
11 2000 kg % '33Ff % pR-<iH TC f=hd} 3n5r?qqTdT {?Rft ? (g=10 m/s2)
(1) 200 N
(2) 400 N
(3) 600 N
(4) 2000 N

A metal ball weighs 0.096 N. When suspended in water it has an apparent weight of 0.064 N. The
density of the metal will be : (density of water =103 kg/m3)
(1) 0.67 xlO3 kg/m3

(2) 1.5 x10s kg/m3

(3) 3x103 kg/m3

(4) 6 X103 kg/m3

Slic'd=b ^ TR 0.096 N % I didil*) 9T $<rl =bl STT^RTl *TR 0.064 N % I ^ 'Mdcd % :
(5leT TTT = 103 kg/m3)
(1) 0.67 xlO3 kg/m3

(2) 1.5 XlO3 kg/m3

(3) 3x103 kg/m3

(4) 6 xlO3 kg/m3

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 473,

. 2, Option ID :- 474,

. 3, Option ID :- 475,

. 4, Option ID :- 476,
 Answer Given:- 1, Option ID : -473

 Question ID:- 120

Options:-

.1, Option ID :- 477,

. 2, Option ID :- 478,

. 3, Option ID :- 479,

. 4, Option ID :- 480,
 Answer Given:- 3, Option ID : -479

There are two stable isotopes of Carbon. They differ with respect to :
(1) Atomic mass
(2) Number of protons
(3) Atomic number
(4) Electron configuration

=hl4-1 % Et THTHt Etc!f I ^ 3TTEE tHET "EHH 3 fHH T? ?
(1) M 4H1 V3
(2) HVHI Hit TRsE

(3) ETERJ ERsE

(4) fH^HRT

A mixture containing15 g of Carbon and 25 g of Oxygen is sealed in a flask. The total mass of the
system is 140 g. The flask is then heated to react the Carbon and Oxygen. What will be the mass of
the sealed flask after heating ?
(1) 40 g
(2) 100 g
(3) 140 g
(4) It is impossible to predict

15ETE HTT4E sfk 25 HIE 3EH#SFT Tie!fESRi nit ERRHI3 4) <n4< HE HE 1EHT wr11EH HIT =pr
SOMHM 140 HIE %, HIE HRRHT Hi!EE fHTHI HTclTH fH?Rt EiT^H 3frl HTHHtHE 3TfHfH>HT HETt 11 E4 HH f̂
% HTE HteTHE ERRHT HU E^TER sflET ?
(1) 40 ETE

(2) 100 ETE

(3) 140 ETE

(4) HfH'HHTHt HE EFT 3THHH t

https://applink.adda247.com/d/XhqWf9lSap
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 Question ID:- 121

Options:-

.1, Option ID :- 481,

. 2, Option ID :- 482,

. 3, Option ID :- 483,

. 4, Option ID :- 484,
 Answer Given:- 2, Option ID : -482

 Question ID:- 122

Options:-

If the Hydrocarbon C2H4 is burned in Oxygen gas, Carbon dioxide and water are formed, as
described by the unbalanced chemical equation

C2H4 + o2 —> co2 + H2O
When the equation is balanced properly, we predict that one mole of C2H4 will :
(1) react with one mole of 02
(2) form two moles of C02
(3) form three moles of water
(4) react with four moles of 02

^gl$§|cbl®h C2H4 3fra#SR %^ 'JldWI T̂Tcfr f , cTl 3^ T̂cfT % f^f 3T*kjfdd
wri^faeK UKT Ffifar wt :
C2H4 + o2 —> co2 + H2O
HHl=h < ul % ^Rrld TR, lit FT ST^TH cFTTcT f C2H4

'RteT :

(1) 02% "HtcT % RRT R̂dT % I

(2) C02%^tRtcl *HTFtl
(3) cfH Rfcl QHICII % I

(4) 02% ^RRta % ^TW

The minimum volume of a block of wood (density =800 kg/m3), if it is to hold a 50 kg person
entirely above the water when he stands on it will be : (density of water 1000 kg/m3)
(1) 0.25 m3

(2) 0.8 m3

(3) 1.18 m3

(4) 1.25 m3

cFTFt % «dT=h = 800 kg/m3)^>T^IdH 3TRRH T̂T FFT, % R̂ T3F 50 kg ŝ HM

<^f=kl^%> % R̂TT Tjyt T T̂ ^ TF TT% ? (̂ FeT °FT = 1000 kg/m3)
(1) 0.25 m3

(2) 0.8 m3

(3) 1.18 m3

(4) 1.25 m3

https://applink.adda247.com/d/XhqWf9lSap
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.1, Option ID :- 485,

. 2, Option ID :- 486,

. 3, Option ID :- 487,

. 4, Option ID :- 488,
 Answer Given:- 1, Option ID : -485

 Question ID:- 123

Options:-

.1, Option ID :- 489,

. 2, Option ID :- 490,

. 3, Option ID :- 491,

. 4, Option ID :- 492,
 Answer Given:- 4, Option ID : -492

 Question ID:- 124

Which one of the following expressions correctly gives the Ohm's law for a conductor ? (Symbols
have their usual meanings)

1
(1) v =¥
(2) V»?
(3) V = I2 R
(4) V = I R

I

feat % 3TfR % ^PiHPel Rad ^ PdRT % gTCT TTfft RfT Rd> dl %? (ydldPf %dldd)

WRPJSTsifl)
1

(1) v=¥

(2) V = —
(3) V = I2 R
(4) V = I R

I

The potential difference required to pass 4A current through a 24 fl resistor will be :
(1) 96 V
(2) 48 V
(3) 6 V
(4) 1.5 V

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 493,

. 2, Option ID :- 494,

. 3, Option ID :- 495,

. 4, Option ID :- 496,
 Answer Given:- 1, Option ID : -493

 Question ID:- 125

Options:-

.1, Option ID :- 497,

. 2, Option ID :- 498,

. 3, Option ID :- 499,

. 4, Option ID :- 500,
 Answer Given:- 3, Option ID : -499

 Question ID:- 126

24 fl %1%RTt ^ 4 A *TTCT H «=llf^c1 ^RT^ % fcTQ, 3Hiq^ch fo'WcR % :

(1) 96 V
(2) 48 V
(3) 6 V
(4) 1.5 V

A current of 2.0 A flows down a straight metal rod that has a 0.20 cm diameter. The rod is 2.0 m
long, and the potential difference between its ends is 40 V. The resistivity of the material of the rod
will be :
(1) 125.6 fjdl m
(2) 62.8 |JLO m
(3) 31.4 M.fi m
(4) 15.7|xfl m

0.20 cm oRRT 1%Rft Iff 2.0 A *IRT 11 sffefsTlf 2.0 mt f^Rt* %
-qst 40 V11 ^ 'RMRTRTT TRT t?
(1) 125.6 |xOm
(2) 62.8 jrflm
(3) 31.4 ixflm
(4) 15.7 fjLilm

A 90 cm long copper tube has an inner diameter of 0.8 cm and an outer diameter of 1.0 cm. The
electric resistance of the tube when used lengthwise will be :
(Take resistivity of copper 1.57 x 10-8 H m)
(1) 109.7 fiil
(2) 180 pH
(3) 281.3 |xH
(4) 500 pH

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 501,

. 2, Option ID :- 502,

. 3, Option ID :- 503,

. 4, Option ID :- 504,
 Answer Given:- 3, Option ID : -503

 Question ID:- 127

Options:-

.1, Option ID :- 505,

. 2, Option ID :- 506,

. 3, Option ID :- 507,

. 4, Option ID :- 508,
 Answer Given:- 2, Option ID : -506

 Question ID:- 128

U 9'8l (f )
u ex (e)

U S’Z fe)
U 6 Z (x)

uex
\AAAA

V9
U 9U 6

WW
: 4 tok % 9 up v #&iy.

U 9‘8X (*)
u ex (e)

U S'Z fe)
U 6'2 (x )

USX
AWA

9 V
U 6 U 9

WAA MW
: sx g pue y s^utod uaaM^aq aauejsxsa.1 aqx

U71 OOS (*)
IF1 £’X82 fe)

U71 08X fe)
U71 Z‘60X (x)

(|IU U 8
_ 0X X /S'X = IP <fefr|> PJK Na |sip) l \\t\p Ih4a frt (>PJK pfejo NaftS

ih. bkk Irlh- K &y£j£ tjo ^Itsp 11UI3 O'X mho b^lfr jfrP UD 8'Q mho <-fc>JPJK>!£> \£L|®]k UD 06
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Options:-

.1, Option ID :- 509,

. 2, Option ID :- 510,

. 3, Option ID :- 511,

. 4, Option ID :- 512,
 Answer Given:- 1, Option ID : -509

 Question ID:- 129

The value of resistor R in order to have current I equals to 0.45 A, will be :
45 V

WvW
300 n

R
(1) 150 o
(2) 200 a
(3) 250 a
(4) 300 a

*TKT I % 0.45 A R RH % :
45 V

41

wwv
300 0

vVvW
R

(1) 150 0
(2) 200 0
(3) 250 O
(4) 300 O

A He2 + ion travels at right angles to a magnetic field of 0.80 T with a velocity of 105 m/s. The
magnitude of the magnetic force on the ion will be :
(electron charge =1.6x 10"19 C)
(1) 0.64 x 10-14 N
(2) 1.28 x 10“14 N
(3) 2.56 x 10“14 N
(4) 5.12 x 10-14 N

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 513,

. 2, Option ID :- 514,

. 3, Option ID :- 515,

. 4, Option ID :- 516,
 Answer Given:- 2, Option ID : -514

 Question ID:- 130

Options:-

.1, Option ID :- 517,

. 2, Option ID :- 518,

. 3, Option ID :- 519,

. 4, Option ID :- 520,
 Answer Given:- 2, Option ID : -518

F^> He2 + 3TFH 0.80 T 3 105 m/s %T ^ JlfdHM % I fff 3TPPT FI WFt
-^^chl -q Fcl FF HRHIUI t : ( S^WM F>T 37T^FT=1.6 X 10-19 C)
(1) 0.64 x 10“14 N
(2) 1.28 x 10- 14 N
(3) 2.56 x 10“14 N
(4) 5.12 x IQ"14 N

How many grams of SbF3 are needed to produce one gram of Freon-12, CC12F2, according to the
reaction represented by this equation ?

2CC14 + 2SbF3 -> 3CC12F2 + 2SbCl3
Molar Mass
179 g mol-1

121 g mol"1

Substance
SbF3
CCI2F2

(1) 0.667 g
(2) 0.986 g
(3) 1.50 g
(4) 2.22 g

UHl =b< ul ?RI TR<pT 3#ffWR7T % 3FJ4TK, TTTH FfcflH-12, CC12F2 % TTTH SbF3 Fit
^Icf^chdl % ?

2CCl4 + 2SbF3 -> 3CC12F2 + 2SbCl3

179 g mol-1

121 g mol-1
SbF3
CC12F2
(1) 0.667 g
(2) 0.986 g
(3) 1.50 g
(4) 2.22 g

https://applink.adda247.com/d/XhqWf9lSap
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 Question ID:- 131

Options:-

.1, Option ID :- 521,

. 2, Option ID :- 522,

. 3, Option ID :- 523,

. 4, Option ID :- 524,
 Answer Given:- 4, Option ID : -524

 Question ID:- 132

Options:-

.1, Option ID :- 525,

. 2, Option ID :- 526,

. 3, Option ID :- 527,

Some metals can be obtained by heating the metal oxide with Carbon. This process is called :
(1) Combustion
(2) Electrolysis
(3) Oxidation
(4) Reduction

^mp; RTRT =Ft^*H =bd ) f i yfsh^i t
(1)

(2)
(3) SHTCK-H'M'JI (TT̂ H)

(4) 3TTSRR

The following chemical reaction

AgN03+ NaCl -» AgCU + NaN03
is an example of which kind of reaction ?
(1) Combination
(2) Decomposition
(3) Displacement
(4) Precipitation

PinRiRaci <1^1^14
AgNOs + NaCl -> AgCU + NaN03

TRiR ^ 3Tf̂ fstvMI ^FT % ?

(1) ‘SPfcsH
(2) 3PRR3 ( f̂ TDH )

(3) f^STFR

(4)

https://applink.adda247.com/d/XhqWf9lSap
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. 4, Option ID :- 528,
 Answer Given:- 4, Option ID : -528

 Question ID:- 133

Options:-

.1, Option ID :- 529,

. 2, Option ID :- 530,

. 3, Option ID :- 531,

. 4, Option ID :- 532,
 Answer Given:- 1, Option ID : -529

 Question ID:- 134

Options:-

.1, Option ID :- 533,

. 2, Option ID :- 534,

A circular coil of radius 40 mm consists of 100 turns of conducting wire and the current through it
is 20 mA. The magnetic field in the centre of the coil will be : (p.0 =4 TTX 10 ~ 7 Hm'1)
(1) 3.14 x 10-5 T
(2) 4.71 x 10-5 T
(3) 6.28 x 10-5 T
(4) 1.26 x 10

_ 4 T

40 nim RbRl Hrfcl Hldd! HR % 100^f cfSTT 20 mA Hit HRT HHTf?H Hi Ts?t % I
$TH HI RFT t : (^= 4 -irx 10

_ 7 Hm
_1)

(1) 3.14 x 10-5 T
(2) 4.71 x 10”5 T
(3) 6.28 x 10 ~ 5 T
(4) 1.26 x 10 ~ 4 T

A solenoid 0.5 m long has 2000 turns of conducting wire. The magnetic induction near the centre
of the solenoid is 0.08 T. The current through the solenoid will be approximately :
(|JL0 = 4TTX 10

_ 7 Hm-1)
(1) 10 A
(2) 16 A
(3) 24 A
(4) 32 A

% 2000^f I HRdlRdHl % % Rl =b <i 0.08 T HiT itlTT ^ I0.5 m HR'iifd'til *¥
MRdlfdHI it HdlRd HRT HH RfH<idH HTH % : (p,0 = 4-irX 10“7 Hm-1)

HlelH HR

(1) 10 A
(2) 16 A
(3) 24 A
(4) 32 A

https://applink.adda247.com/d/XhqWf9lSap
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. 3, Option ID :- 535,

. 4, Option ID :- 536,
 Answer Given:- 3, Option ID : -535

 Question ID:- 135

Options:-

.1, Option ID :- 537,

. 2, Option ID :- 538,

. 3, Option ID :- 539,

. 4, Option ID :- 540,
 Answer Given:- 3, Option ID : -539

 Question ID:- 136

Match the Table -1and Table - II, given below and then using the code below the tables, select the
correct answer.

Table - I
(Phenomenon)

(A) Heating effect of electric current
(B) Magnetic effect of electric current
(C) Electi'omagnetic induction
(D) Potential difference between two points
Code :
(1) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)
(2) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
(3) (A)-(ii), (B)-(iii), (C)-(i), (D)-(iv)
(4) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)

Table - II
(Scientist)

(i) Michael Faraday
(ii) Joule
(iii) Hans C. Oersted
(iv) Alessandro Volta

^ TPlt - I TJcft- II RldH 'W) STP :

^- H

(c^lPlcb)

(i) HI 5=hel

(ii) ^(iii) |Ff Fft.
(D) f^WfcR (iv) ql(^|

^•1

( MRU <HI )

(A) fejcT *1RT =FT TTFR

(B) NRT ^
(C)

(1) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)
(2) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
(3) (A)-(ii), (B)-(iii), (Q-(i), P)-(iv)
(4) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 541,

. 2, Option ID :- 542,

. 3, Option ID :- 543,

. 4, Option ID :- 544,
 Answer Given:- 4, Option ID : -544

 Question ID:- 137

Options:-

.1, Option ID :- 545,

. 2, Option ID :- 546,

. 3, Option ID :- 547,

. 4, Option ID :- 548,
 Answer Given:- 2, Option ID : -546

 Question ID:- 138

Which one of the following statements is not TRUE in regard to the hearing of sound ?
(1) The audible range of sound for human beings ranges between 20 Hz to 20 kHz.
(2) Sounds of frequencies below 20 Hz are called infrasonic waves.
(3) As human grow older, their ears remains equally sensitive for all frequencies.
(4) Dogs can hear sounds having frequencies upto 25 kHz.

STOfd^fl®4dl % fcfu; P-lHldRad RTSRf ^ '#3 RT %?
(1) SfoMdl 20 Hz ^ 20 kHz % 41"d £ldl % I

(2) 20 Hz SflcjfrT Tl R5R dRl ^crlldl % I

(3) oi|fqd4T 3TFJ RopT TR 41^3% RiFT 3TT^irR?f % TRH TOT ^ TO?ct f I

(4) 25 kHz 3T1^% RT7 R>t ^ TTOicf f I

An incident ray of light makes an angle of 25° with the normal to a plane mirror. The mirror is then
so turned through 7°, making the angle of incidence for the same ray of light 32°. The reflected ray
will then be rotated by angle :
(1) 3.5°
(2) 7.0°
(3) 10.5°
(4) 14.0°

fe# frlHdTl 'R 31lHfdd R̂ RT R>t fW><ul ^ 25° TT oHIdl % I =Ft 7°^ 1RT
TOR 'fRPTT TOTdT t% TOFlt TRFW 1%RW % fcRJ 3RFRR 32°$ TOTOT % I 'RiqRid 1%^ =FT&1 Tf
TOIM ?
(1) 3.5°
(2) 7.0°
(3) 10.5°
(4) 14.0°

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 549,

. 2, Option ID :- 550,

. 3, Option ID :- 551,

. 4, Option ID :- 552,
 Answer Given:- 3, Option ID : -551

 Question ID:- 139

Which one of the following is a displacement reaction ?
(1) Mg(s) + Cl2(g) ^ MgCl2(s)
(2) HCl(aq) + NaOH(aq) -> NaCl(aq) + H20(1)
(3) CuS04(aq) + Fe(s) FeS04(aq) + Cu(s)
(4) 2PbN03(s) -> 2PbO(s) + 4N02(g) +02(g)

PlHpdfed ^ 3#ff̂ TT t ?
(1) Mg(s) +a2(g) —» MgCl2(s)
(2) HCl(aq) + NaOH(aq) -> NaCl(aq) + H20(1)
(3) CuS04(aq) + Fe(s) -> FeS04(aq) + Cu(s)
(4) 2PbN03(s) ^ 2PbO(s) + 4N02(g) +02(g)

Burning of Coal is a/an :
(A) Combination reaction
(B) Endothermic reaction
(C) Exothermic reaction
(D) Decompsition reaction
Choose the correct option.

(1) (A) only
(2) (C) only
(3) (A) and (C) only
(4) (B) and (D) only

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 553,

. 2, Option ID :- 554,

. 3, Option ID :- 555,

. 4, Option ID :- 556,
 Answer Given:- 2, Option ID : -554

 Question ID:- 140

Options:-

.1, Option ID :- 557,

. 2, Option ID :- 558,

. 3, Option ID :- 559,

. 4, Option ID :- 560,
 Answer Given:- 2, Option ID : -558

 Question ID:- 141

chl'McrU °FT[ 'Hd'll :

(A) HRI^H 3#rf^n
(B) OTIRM srfRfaTRT
(C) R̂T^ft 3#TflFRT
(D) 37W3H (f^#5R) STfaftftRT

fc) =b<rM ^|

(1) %cfcT (A)

(2) (C)
(3) (A) 3fc (C)
(4) % T̂ (B) 3?K (D)

The correct formula for Calcium chlorite (bleaching powder) is :
(1) Ca(C102)2
(2) CaC102
(3) Ca(C103)2
(4) Ca(C104)2

%f̂ FTR =Rrfl<l$ci (Seftf̂ T RT?g*) =FT "R#^t :
(1) Ca(C102)2
(2) CaC102
(3) Ca(C103)2
(4) Ca(ClO^)2

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 561,

. 2, Option ID :- 562,

. 3, Option ID :- 563,

. 4, Option ID :- 564,
 Answer Given:- 3, Option ID : -563

 Question ID:- 142

Options:-

.1, Option ID :- 565,

. 2, Option ID :- 566,

. 3, Option ID :- 567,

. 4, Option ID :- 568,
 Answer Given:- 4, Option ID : -568

 Question ID:- 143

Which of these salts should be dissolved in water to produce a solution with a pH < 7 ?
(1) Sodium acetate
(2) Potassium nitrate
(3) Aluminium chloride
(4) Sodium hydrogen carbonate

pH < 7 'facPPT % fcTTj; PlHplRsld P ^ ^1

(1) Hlfe-MH

(2) ittfcPFf dl^d

(3) l^fHpWH

(4) =hl«iPi <i

Which of the following metal oxides is amphoteric ?
(1) CuO
(2) Na20
(3) MgO
(4) A1203

Pi HIfed *f ^ Vig-3lT=Kll§'S % ?
(1) CuO
(2) Na20
(3) MgO
(4) A1203

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 569,

. 2, Option ID :- 570,

. 3, Option ID :- 571,

. 4, Option ID :- 572,
 Answer Given:- 2, Option ID : -570

 Question ID:- 144

Options:-

.1, Option ID :- 573,

. 2, Option ID :- 574,

. 3, Option ID :- 575,

. 4, Option ID :- 576,
 Answer Given:- 1, Option ID : -573

 Question ID:- 145

An object 12 nun high is placed at a distance of 0.4 m from a concave mirror. The radius of
curvature of the mirror is 0.4 m. The location of the image will be :
(1) 0.2 m
(2) 0.4 m
(3) 0.6 m
(4) 0.8 m

12 mm <5r3Tf ^ ^ 0.4 m^Tt W % I qsbdl-Bb^l 0.4 m % I

(1) 0.2 m
(2) 0.4 m
(3) 0.6 m
(4) 0.8 m

A diverging lens forms an image one-third the size of an object that is placed 24 cm from the lens.
The focal length of the lens will be :
(1) 6 cm
(2) 8 cm
(3) — 10 cm
(4) -12 cm

31Mflk1#8 Tf 24 c m 8 1 Hsl % TUfiST % ^TcTf 1? 1
:

(1) 6 cm
(2) 8 cm
(3) -10 cm
(4) -12 cm

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 577,

. 2, Option ID :- 578,

. 3, Option ID :- 579,

. 4, Option ID :- 580,
 Answer Given:- 1, Option ID : -577

 Question ID:- 146

Options:-

.1, Option ID :- 581,

. 2, Option ID :- 582,

. 3, Option ID :- 583,

. 4, Option ID :- 584,
 Answer Given:- 4, Option ID : -584

 Question ID:- 147

Which metal will react most vigorously with water ?
(1) Na
(2) K
(3) Mg
(4) Ca

# mg “Sfel % 3RvT 3#Hr?*vMI c îl ?
(1) Na
(2) K
(3) Mg
(4) Ca

Metallic zinc will not reduce :
(1) Cu2+

(2) H+

(3) Ag +

(4) Al3+

fmf ^ fMl mfem fisim m^TTT ?
(1) Cu2+

(2) H +

(3) Ag +

(4) Al3+

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 585,

. 2, Option ID :- 586,

. 3, Option ID :- 587,

. 4, Option ID :- 588,
 Answer Given:- 1, Option ID : -585

 Question ID:- 148

Options:-

.1, Option ID :- 589,

. 2, Option ID :- 590,

. 3, Option ID :- 591,

. 4, Option ID :- 592,

In the electrolytic refining of copper, an electric current is passed through a cell containing a pure
copper electrode, an electrode of impure copper, and an aqueous solution containing copper ions.
In this process, the impure copper electrode is called the :
(1) Anode
(2) Cathode
(3) Reference electrode
(4) Indicator electrode

<T1% % 3HH^CH1 HR̂ UI *¥ cTT®f % Scrid'dl -S, T̂TT^T ctfif % SRFFTf ^-Jldl 'M Rid'-H RTvf 'feat Tfef 3 RtcJ^d T̂RT y^lRd T̂f Tpft f I fR TrfsFRlT 3 3RJ5?IT^ (W)
f̂T %?

(1)
(2) %«Tte
(3)

(4) *i
'^d=b-$<rl4iU

When dilute Sulphuric acid is added to Zinc granules, which one of the following gases will be
evolved ?
(1) Sulphur dioxide
(2) Hydrogen
(3) Oxygen
(4) Hydrogen sulphide

% gnt "*¥ cf^ NeM^R.di ffRaRt RinfeiRad aft ftai ftrarvpft ?
(1) waa
(2)
(3) f̂h+Hl 'sH

(4) SlSftad 'Hv’+Jl^ -S

https://applink.adda247.com/d/XhqWf9lSap
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 Answer Given:- 2, Option ID : -590

 Question ID:- 149

Options:-

.1, Option ID :- 593,

. 2, Option ID :- 594,

. 3, Option ID :- 595,

. 4, Option ID :- 596,
 Answer Given:- 4, Option ID : -596

 Question ID:- 150

Options:-

.1, Option ID :- 597,

. 2, Option ID :- 598,

. 3, Option ID :- 599,

. 4, Option ID :- 600,
 Answer Given:- 3, Option ID : -599

 Question ID:- 151

What type of compound is CH3CH2COCH3 ?
(1) Alcohol
(2) Aldehyde
(3) Ketone
(4) Ether

CH3CH2COCH3fa*? MR f ?

(1) ^<r=bWTel
(2)
(3)
(4) 1m

In the complete combustion of Butane, the products obtained are :
(1) Water and Carbon
(2) Butanone and Water
(3) Carbon dioxide and Water
(4) Carbon dioxide and Hydrogen

(1) MM!
(2) ®4jcb?H MUl
(3) =bl4n 3?R TTFft
(4) 3fk

:
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Options:-

.1, Option ID :- 601,

. 2, Option ID :- 602,

. 3, Option ID :- 603,

. 4, Option ID :- 604,
 Answer Given:- 2, Option ID : -602

 Question ID:- 152

Options:-

.1, Option ID :- 605,

. 2, Option ID :- 606,

. 3, Option ID :- 607,

. 4, Option ID :- 608,
 Answer Given:- 4, Option ID : -608

 Question ID:- 153

When Ethanol is heated with Sulphuric acid, the major product is :
(1) Ethane
(2) Ethene
(3) Ethyne
(4) Ethyl sulphate

T^̂ TTef ^1 % "SITST^f̂ TT 5̂TTcTT %, iTt % :

(1) T$P\
(2)
(3)
(4) T f̂sieT

Any saturated hydrocarbon that is classified as an octane must have the molecular formula.
(1) C8H8
(2) C8H14
(3) C8H16
(4) C8H18

*fl gl5-|1=hl4'1 3TN̂ T % 7̂ R̂TfficT W t, 37Tfn̂ 7J5f f̂jf|TT

(1) C8H8
(2) C8H14
(3) C8H16
(4) C8H18

:
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Options:-

.1, Option ID :- 609,

. 2, Option ID :- 610,

. 3, Option ID :- 611,

. 4, Option ID :- 612,
 Answer Given:- 1, Option ID : -609

 Question ID:- 154

Options:-

.1, Option ID :- 613,

. 2, Option ID :- 614,

. 3, Option ID :- 615,

. 4, Option ID :- 616,
 Answer Given:- 4, Option ID : -616

 Question ID:- 155

How many grams of MgC03 contain 24.0 g of Oxygen ? (The molar mass of MgC03 is
84.3 gmol-1)
(1) 42.2 g
(2) 84.3 g
(3) 126 g
(4) 154 g

fecFf UTF MgC03 24.0 TfFT FT'+HN'I ^tcTT 1? ? ( MgC03 FfcR fioMHH 84.3 gmol 141)
(1) 42.2 g
(2) 84.3 g
(3) 126 g
(4) 154 g

For hearing a distinct echo by the human, the time interval between the original sound and the
reflected one must be at least :
(1) 0.01 s
(2) 0.1 s
(3) Is
(4) 2 s

HMdl % fcF*, "^5% % fcTT TJyf cf ®TT eFT P̂T fad'll
3T?RM 3tld^ch ^IrfT %?
(1) 0.01 s
(2) 0.1 s
(3) Is
(4) 2 s

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 617,

. 2, Option ID :- 618,

. 3, Option ID :- 619,

. 4, Option ID :- 620,
 Answer Given:- 2, Option ID : -618

 Question ID:- 156

Options:-

.1, Option ID :- 621,

. 2, Option ID :- 622,

. 3, Option ID :- 623,

. 4, Option ID :- 624,
 Answer Given:- 2, Option ID : -622

 Question ID:- 157

Which of the following is not a Colloid ?
(1) Milk
(2) Mud
(3) Butter
(4) Boric acid

PinfciRaci ^ ^t?

(1) V*
(2) ffcr^t
(3) TO

(4) 3TOf

Which of the following phenomenon does not occur in sound wave ?
(1) Diffraction
(2) Reflection
(3) Polarization
(4) Interference

PlHlcrlRslcI HRfe)d.'1l3Tt Tj^T dRil $)dl ?
(1)
(2)
(3)

(4) oMfd =h< ul

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 625,

. 2, Option ID :- 626,

. 3, Option ID :- 627,

. 4, Option ID :- 628,
 Answer Given:- 2, Option ID : -626

 Question ID:- 158

Given that the acceleration due to gravity on the moon is one sixth that on the earth. A person can
throw a stone 10 m straight upward on the earth. Assuming same throwing speed, the height, the
person will be able to throw a stone on the moon is :
(Take acceleration due to gravity =10 m/s2)
(1) 30 m
(2) 60 m
(3) 90 m
(4) 120 m

f^RT RRT1? % RfiHI TR IRIRT %| oMfad Rl 10 m ^R1 3tR
RRjflT % I R^TRR °Ft Rfd ^ RF R£HI RT Rc«R =Ft faiddl <Stdle1 ?RcRR

(Jj<?cRI=b 4ul % =hKul r=Kul =10 m/s2)
(1) 30 m
(2) 60 m
(3) 90 m
(4) 120 m

Identify the greenhouse gases from the list given below and answer from the codes given.
(A) Water vapour
(B) Ozone
(C) Carbon monoxide
(D) Nitrogen
Select correct answer from the following codes.
(1) Only (A) and (B) of the above.
(2) (A), (B) and (C) of the above.
(3) Only (A) and (D) of the above.
(4) All of the above.

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 629,

. 2, Option ID :- 630,

. 3, Option ID :- 631,

. 4, Option ID :- 632,
 Answer Given:- 1, Option ID : -629

 Question ID:- 159

Options:-

.1, Option ID :- 633,

. 2, Option ID :- 634,

. 3, Option ID :- 635,

. 4, Option ID :- 636,
 Answer Given:- 3, Option ID : -635

 Question ID:- 160

RNI ^ Tffa ^T3?T R>f RR f^; RF; Rite^ cf i

(A) RfRRRq

(B) 3iWh
(C) Hl'ilSHTRHiS'S

(D) *115^1'JH

R^ RR ^ Riff RRR I

(1) RR^R 33%RRT (A) 3fR (B)

(2) RRRRR 33 (A), (B) alk (C)
(3) 3 Rl %Ref (A) 3?k (D)
(4) RR <f =k1 RRt

Which of the following is not an example of the group algae ?
(1) Fucus
(2) Porphyra
(3) Sphagnum
(4) Polysiphonia

PinfeiRad 3 if R?TR RT R1^ R5T dRlS Î Riff f ?

(1) R^RiR

(2) MKWH1

(3) RVRR
(4) Mlfel*11 I

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 637,

. 2, Option ID :- 638,

. 3, Option ID :- 639,

. 4, Option ID :- 640,
 Answer Given:- 1, Option ID : -637

 Question ID:- 161

Options:-

.1, Option ID :- 641,

. 2, Option ID :- 642,

. 3, Option ID :- 643,

. 4, Option ID :- 644,
 Answer Given:- 3, Option ID : -643

 Question ID:- 162

In which of the group of organism Algin carbohydrate is found ?
(1) Phaeophytes
(2) Rhodophytes
(3) Pteridophytes
(4) Gymnosperms

f̂ T 3 tJcr'M f ?

(1) P-h'41'-Kf ^d.

(2)
(3)
(4) 3ni^d <sfl41

Identify the organism from the option given below which is always heterotrophic.
(1) Nostoc
(2) Bacteria
(3) Mucor
(4) Chlamydomonas

^ 3^ cRT ^*?I "STcfa wftwt^f I

(1) HXwI=b

(2)
(3) ^(4)

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 645,

. 2, Option ID :- 646,

. 3, Option ID :- 647,

. 4, Option ID :- 648,
 Answer Given:- 2, Option ID : -646

 Question ID:- 163

Options:-

.1, Option ID :- 649,

. 2, Option ID :- 650,

. 3, Option ID :- 651,

. 4, Option ID :- 652,
 Answer Given:- 2, Option ID : -650

 Question ID:- 164

Which of the following is a wrong statement about system of binomial nomenclature ?
(1) Name of an organism is a combination of the name of genus and species together.
(2) While writing the name of an organism first letter of the genus and species name is written in

capital letters.
(3) Genus and species names are italicised while printing.
(4) Name of the author who first described the organism may also be written after species epithet.

fgRg 'HHch<ul Mo&Rl % teTQ; PinRlRsid Udd t ?
(1) Pb-Hl RR TR RtyfeT % RRT 11
(2) ^ % RTR Rl <3^ TFR 'jfld'H TR % RTRT % 3T8R ^ Rl <gi

T̂TcTT 'i' l

(3) %W 'jfl'Kl TR %RRt frK?3T WfT T̂TcFT % I

(4) fcrcr ^ H$efl ^RTr f RTR ^HdlH % H^-dld Rlisll T̂T
RRKTT % l

Cnidoblasts are specialized cells used for the purpose of :
(1) Movement of water among coelenterates.
(2) Defence among coelenterates.
(3) Defence among Echinoderms.
(4) Digestion of food among Annelids.

fRSt^TRS dlHdi t :

(1) % yiPul 4f
(2) IFft^fel % ^ %5
(3) % yiM3 ^(4) 0ell SI % yifuldl 3 RRR 5̂

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 653,

. 2, Option ID :- 654,

. 3, Option ID :- 655,

. 4, Option ID :- 656,
 Answer Given:- 2, Option ID : -654

 Question ID:- 165

Which of the following is correct match for disaccharide sugar ?
(A) Maltose : Glucose + Ribose
(B) Sucrose : Glucose + Fructose
(C) Lactose : Galactose + Fructose
Select the correct answer from the options given below :
(1) Only (A) of the above.
(2) Only (B) of the above.
(3) Only (B) and (Q of the above.
(4) Only (A) and (B) of the above.

fHHfafidd 33 cRT rg¥I«J»\ l t? .

(A) HKrdl'H : rc3=f?ra + TTfsfPFT
(B) : Edit'd +

(C)
hTT Lf Wf TccR I

(1) 3 (A)
(2) 33 (B)

(3) ^ (B) T^' (C)
(4) 3^ (A) T3[^ (B)

Which one of the following statements is incorrect about triglyceride ?
(1) These are non-polar in nature.
(2) These are formed from glycerol.
(3) Glycerol of the molecule has two -OH groups.

O

(4) -OH groups of glycerol binds with — C — OH groups of fatty acids.

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 657,

. 2, Option ID :- 658,

. 3, Option ID :- 659,

. 4, Option ID :- 660,
 Answer Given:- 3, Option ID : -659

 Question ID:- 166

dl^Pd*HI $s % fdTj; PlHfcrlRsIcl *¥ ^ ^^> «H ^idd 11
(1) 3 TIffiT %^11
(2) ^ Pd'H T̂cn ^ f |

(3) % Pdfl<Td 3^1 -OH ‘'TR 11
O

(4) PdWld T̂ -OH T̂ 3^% — C — OH ^ ®RTcTT % I

Which of the following structure is not found in proteins ? Identify the same and answer from the
codes given below :

H O
I

(A) H2N-C-C-OH

R

O H
II I

(B) R-C-O-C-H
I
II

R H
I I

C-C-N-C-C(Q
H O

Code :
(1) Only (A) and (B) of the above
(2) Only (B) of the above
(3) Only (B) and (C) of the above
(4) Only (C) of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 661,

. 2, Option ID :- 662,

. 3, Option ID :- 663,

. 4, Option ID :- 664,
 Answer Given:- 2, Option ID : -662

 Question ID:- 167

PIHRIHSICI if ^ ^fk -cHI if T̂jSf Rif ÎTcff %? $^=h) HS^M ^ JT^ f^TT^ ^^3ccR cj I

H O
I II

(A) H2N-C-C-OH

R

O H
II I

(B) R-C-O-C-H
I
H

R H

C-C-N-C-C(Q II
H O

^T :

(1) wkm if if %̂ r (A) sk (B)

(2) <SH <|cKl if %5fvT (B)

(3) ^Kt3RT if if (B) T^' (C)

(4) <SH <l =kl if %°fvT (C)

Identify the symbiotic nitrogen fixing bacteria from the following and select the code for correct
answer from the codes given below.
(A) Azotobacter
(B) Azospirillum
(C) Rhizobium
Code :
(1) Only (C) of the above
(2) Only (B) and (C) of the above
(3) Only (A) and (C) of the above
(4) All of the above

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 665,

. 2, Option ID :- 666,

. 3, Option ID :- 667,

. 4, Option ID :- 668,
 Answer Given:- 1, Option ID : -665

 Question ID:- 168

Options:-

.1, Option ID :- 669,

. 2, Option ID :- 670,

. 3, Option ID :- 671,

. 4, Option ID :- 672,
 Answer Given:- 2, Option ID : -670

 Question ID:- 169

PinRlRad *¥ ^ 4̂14! ^ H^M 1̂ t^TT RT* =jj>Z £( Tf wt ZccR T̂rf ^>Z 3TI

^ I

(A) ^̂<=h<
(B) it' jfldlR-yRcfH

(C) Tffilf&PJ

** •*

(1) ^qfRFcT 33%cfR (C)

(2) ZT^R rf 3%BRT (B) T^‘ (C)

(3) 3 (A) TJpi (C)

(4) ZH<1=W 33

To which group of kingdom fungi mushrooms are classified ?
(1) Ascomycetes
(2) Basidiomycetes
(3) Deuteromycetes
(4) Phycomycetes

TR % f̂ T 3 3>3)<y,d1l T̂ffR f^RT M̂T f ?
(1) TJ F̂falffTFZfa
(2)
(3)
(4) MiN'hlni^Rlzl’H
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Options:-

.1, Option ID :- 673,

. 2, Option ID :- 674,

. 3, Option ID :- 675,

. 4, Option ID :- 676,
 Answer Given:- 2, Option ID : -674

 Question ID:- 170

Options:-

.1, Option ID :- 677,

. 2, Option ID :- 678,

. 3, Option ID :- 679,

. 4, Option ID :- 680,
 Answer Given:- 2, Option ID : -678

 Question ID:- 171

To which of the following animal phylum Pleurobranehia belongs ?
(1) Coelenterata
(2) Ctenophora
(3) Mollusca
(4) Hemichordata

Pinleiftsfci ^ "sfifw % sicpfa STRIT %?
(1)
(2) dl -il'bUl
(3) HMf+l

(4) ^ PH =hTl<il

Structure parapodia is observed in which group of animals ?
(1) Crustacea
(2) Annelida
(3) Ctenophora
(4) Porifera

ferf yipJi4i R MKIMIPS-MI qrf ?
(1)
(2)
(3)

(4) MtR'hfl
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Options:-

.1, Option ID :- 681,

. 2, Option ID :- 682,

. 3, Option ID :- 683,

. 4, Option ID :- 684,
 Answer Given:- 3, Option ID : -683

 Question ID:- 172

Which of the following is popularly known as Vitamin-E ?
(1) Calciferol
(2) Cyanacobalamin
(3) Tocopherol
(4) Phytonadione

PinfcrlRslcI ^ ^THT %?
(1)
(2)
(3) ZT^RM

(4) wrzEufe#!

Identify the food sources for Calcium from the following options and select correct answer from
the codes given below :
(A) Milk
(B) Salmon fish
(C) Rice
(D) Beans
Code :
(1) Only (A) and (B) of the above
(2) Only (B) and (D) of the above
(3) (A), (B) and (C) of the above
(4) (A), (B) and (D) of the above
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Options:-

.1, Option ID :- 685,

. 2, Option ID :- 686,

. 3, Option ID :- 687,

. 4, Option ID :- 688,
 Answer Given:- 3, Option ID : -687

 Question ID:- 173

Options:-

.1, Option ID :- 689,

. 2, Option ID :- 690,

. 3, Option ID :- 691,

. 4, Option ID :- 692,
 Answer Given:- 1, Option ID : -689

 Question ID:- 174

PlHfdPisld 3^ Bf5R WBH^ P̂ P) %fr¥RR Pbddl % ^3 f̂ ^Bit ĉtR

^ I

(A) ^(W
(B) BidHd H*9d)

(C) -dNd

(D) ^
(1) 3Rl %Bcl (A) 3pR (B)

(2) 33%3el (B) 3fR (D)
(3) istfm ^3(A), (B) 3?fc (C)

(4) 3 (A), (B) 3fa (D)

Identify the wrong statement about human heart from the option given below.
(1) Aorta arises from right ventricle.
(2) Opening between left atrium and left ventricle is guarded by bicuspid valve.
(3) Right ventricle receives deoxygenated blood.
(4) Sino-atrial node is present in right atrium.

RHB % fd^ PlHPdPsid fa ĉrMl Ucdrl W dff HSBM ?
(1) Re?T*-BRft d(P?H Pld-M ^ Pi =t>ddl f I

(2) 3ilfd-< TT^ BHp Pid-M % Bfa % fe? BT f?=Fr Ppre BTed BFBT did!% I

(3) dlpHI PldB 3lT=Wl <s|Htf^d 7°Fd BIRT BRcfl % I

(4) HI^'iV îlPrl'B dlfe *-) SiiPel̂ Pf BRfelcf ^TcTT 1? I
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Options:-

.1, Option ID :- 693,

. 2, Option ID :- 694,

. 3, Option ID :- 695,

. 4, Option ID :- 696,
 Answer Given:- 3, Option ID : -695

 Question ID:- 175

Options:-

.1, Option ID :- 697,

. 2, Option ID :- 698,

. 3, Option ID :- 699,

. 4, Option ID :- 700,
 Answer Given:- 4, Option ID : -700

 Question ID:- 176

Which of the following is not a function of Lymph ?
(1) Carrier for nutrient
(2) Exhibiting immune response
(3) Transport of oxygen
(4) Absorption of fat

Pinieiftsid Tf RIT TTI % ?

(1) RfatfF cfifcfr

(2) yfdlstvMI offt
(3) 3TT3#3R

(4) TRT 3*̂ fopxr

What is the term used for total volume a person can breath in after normal expiration ?
(1) Expiratory capacity
(2) Inspiratory capacity
(3) Vital capacity
(4) Tidal volume

3TcT:?TfR ^Tjyf 3McH <=>Mf =K1 TfTEPi ^ *t =bdl %^W f ?
(1) f3: T̂R 8FET1

(2) SJRcfT

(3)
(4) STFTrR
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Options:-

.1, Option ID :- 701,

. 2, Option ID :- 702,

. 3, Option ID :- 703,

. 4, Option ID :- 704,
 Answer Given:- 2, Option ID : -702

 Question ID:- 177

Options:-

.1, Option ID :- 705,

. 2, Option ID :- 706,

. 3, Option ID :- 707,

. 4, Option ID :- 708,
 Answer Given:- 4, Option ID : -708

 Question ID:- 178

Process of gaseous exchange during respiration takes place between :
(1) Epithelium of alveoli and Epithelium of blood capillary.
(2) Epithelium of alveoli and Endothelium of blood capillary.
(3) Endothelium of alveoli and Endothelium of blood capillary.
(4) Endothelium of alveoli and Epithelium of blood capillary.

% RRq fafHH -M eft RUF̂ I t :

(1) <5H =t>cil %
(2) <£^=61 ^ cfft 3Tcf:̂ fveTT %
(3) *ft =b! =Ft 3TcT:ofv̂ fT

(4) cfipRFiT^3RT:̂ fT ^

During the process of cellular respiration i.e. glycolysis which of the following is not a 3-carbon
atom compound.
(1) Pyruvic add
(2) Dihydroxy acetone phosphate
(3) 2-phosphoglycerate
(4) Fructose 6-phosphate

<=hlR? l =hl <f yPsh -MI % RRFT Pinfelftsid T̂FT RTT fa- =bl4i %?
(1) MI -M-bfdcti 3TRT

(2) FSjFTSpT

(3) 2-ThfPRtf%Fte
(4) ifx+el -H 6- LhT̂ +>ci
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Options:-

.1, Option ID :- 709,

. 2, Option ID :- 710,

. 3, Option ID :- 711,

. 4, Option ID :- 712,
 Answer Given:- 2, Option ID : -710

 Question ID:- 179

Options:-

.1, Option ID :- 713,

. 2, Option ID :- 714,

. 3, Option ID :- 715,

. 4, Option ID :- 716,
 Answer Given:- 4, Option ID : -716

 Question ID:- 180

Symplastic system in plant is formed through which of the following ?
(1) Mycorrhiza
(2) Plasmodesmata
(3) Casperian strip
(4) Cohesion-tension pull

[HnldRad URT R iRFRfTfê cfa R3RT %?

(1)
(2) klkRl^'Wld

(3) Midi
(4) TRiSR-cRTR Ra'-dld

Which of the following statement is wrong for pollen grain ?
(1) It contains generative cell
(2) It contains vegetative as well as generative cell.
(3) Generative cell of pollen grain is spindle shaped.
(4) Generative cell of pollen grain give rise three male gametes.

'RlWJjf % fefcr PlHftiRad R RT R>RR ReRT t ?

(1) RRR =RlRfi =hi Rif Rrat % I

(2) RR RRR =blRfl=hl Rfat ^Tcft 11
(3) H <Ml =t> ul RTI RPR =hlRl =»il d^*=R s?RTl % I

(4) WWI RRR RT ®Rrf f I
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Options:-

.1, Option ID :- 717,

. 2, Option ID :- 718,

. 3, Option ID :- 719,

. 4, Option ID :- 720,
 Answer Given:- 2, Option ID : -718

 Question ID:- 181

Options:-

.1, Option ID :- 721,

. 2, Option ID :- 722,

. 3, Option ID :- 723,

. 4, Option ID :- 724,
 Answer Given:- 3, Option ID : -723

 Question ID:- 182

In which of the following plant endosperm is not completely used and remains present in mature
seed ?
(1) Peas
(2) Castor
(3) Ground nut
(4) Beans

PlHRlRgd 3 ^ if ^PTpT^FtcTT % TJof #5f if <Ji|p*icT ^tcTT 1? ?
(1) TO

(2) 3TWl
(3)
(4) Wf

Which of the following is diploid in case of human spermatogenesis ?
(1) Secondary spermatocyte
(2) Spermatids
(3) Sertoli cells
(4) Spermatozoa

PfMfdPsfcl if if W fsjJPuld 5?ldT % ?

(1) fgdk <*
(2) fM4Pi4
(3) T̂Sfeff =bfp!l =bli<
(4) ^dl'dlSfl
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Options:-

.1, Option ID :- 725,

. 2, Option ID :- 726,

. 3, Option ID :- 727,

. 4, Option ID :- 728,
 Answer Given:- 3, Option ID : -727

 Question ID:- 183

Level of which of the following hormone does not remain at its peak level at the time of ovulation
in human female ?
(1) Follicle stimulating hormone
(2) Leutinizing hormone
(3) Progesterone
(4) Estrogen

PHR PKI sfftRpf % FFR R5T RTC 3RFI FcR RT Riff R?RT % ?

(1) tilRlfshel fWta
(2) fF#T

(3) MI'JIWM

(4)

Match the cell organelles in column - 1 with their functions in column - II.
Column - I

(A) Lysosomes
(B) Mitochondria
(C) Cell wall
(D) Ribosomes
(E) Vacuoles

Column - II
(i) 'Power houses' of the cell that stores & releases energy
(h) Store nutrients and water
(iii) Digestive bags which fight against infection inside the cell
(iv) Help in protein synthesis
(v) Providing protection and rigidity to the cell

(1) (A)-(iv), (B)-(iii), (C)-(v), p)-(i), (E)-(ii)
(2) (A)-(iii), (B)-(i), (Q-(v), (D)-(iv), (E)-(ii)
(3) (A)-(iv), (B)-(i), (C)-(v), (D)-(ii), (E)-(iii)
(4) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i), (E)-(v)
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Options:-

.1, Option ID :- 729,

. 2, Option ID :- 730,

. 3, Option ID :- 731,

. 4, Option ID :- 732,
 Answer Given:- 2, Option ID : -730

 Question ID:- 184

Options:-

.1, Option ID :- 733,

3firdRsld =blft(l=bl ^W-II ^ ^ iM<r1M diH4i< :

TRW-II

(i) =^rVl =W =RT Vlfdd^e *n?T ^SrSrf CRT sffc ftpfa1?tdT %
(ii) cTr^ 3fR ^iT •H 'd4! =h<dl %
(iii) "^T^R êff 4t ^Tf^I % 4tcTC 4st> Hul ^ el -̂ cfl % I

(iv) iJiil'i HV^';( uI *¥ <H6N=h SFRTT % I

(v) =htrVl=hl ^IJTSJl 3?R c[5dl TRR v̂RT % I

(1) (A)-(iv), (B)-(iii), (C)-(v), (D)-(i), (E)-(ii)
(2) (A)-(iii), (B)-(i), (C)-(v), (D)-(iv), (E)-(ii)
(3) (A)-(iv), (B)-(i), (C)-(v), (D)-(ii), (E)-(iii)
(4) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i), (E)-(v)

*rW-I
(A)

(B) HI5dl=hTT'^ <MI

(c) ^r̂ ichiN^i

(D)
(E) jmn\

Select the correct statements about Rough Endoplasmic Reticulum (RER) among the following :
(A) Helps in lipid synthesis.
(B) Ribosomes are attached to its surface.
(C) Situated near the plasma membrane.
(1) (A) and (B)
(2) (A) only
(3) (B) and (C)
(4) (B) only

Pd ^ H 3^=4) ^lPd=bl [TR> Q^^dlPrHd) (31Rf3TR)J PiHif^d *1^ Wt -dPdU. :

(A) ^PnPns ul 3 s?Rn 11
(B) ^ ^f I

(C) T̂e? % ^HIH irsicf ^tcTT % I

(1) (A) 3fo (B)
(2) (A)
(3) (B) 3fR (C)
(4) (B)
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. 2, Option ID :- 734,

. 3, Option ID :- 735,

. 4, Option ID :- 736,
 Answer Given:- 4, Option ID : -736

 Question ID:- 185

Options:-

.1, Option ID :- 737,

. 2, Option ID :- 738,

. 3, Option ID :- 739,

. 4, Option ID :- 740,
 Answer Given:- 2, Option ID : -738

 Question ID:- 186

Which of the following statements about Pteridophytes is not correct ?
(1) They are seedless plants.
(2) Flowers are the reproductive organs.
(3) Plant body is differentiated into root, stem and leaves.
(4) They have specialised tissue for conduction of water.

(1) F "§1%11
(2)
(3) FFT sfa MRT14] f^rqT WcfT % I

(4) (4*14) <jhd *rd =h sffrfT % I

In which of the following forms do the most plants absorb nitrogen ?
(A) Proteins
(B) Nitrates and nitrites
(C) Urea
(D) Atmospheric nitrogen

(1) (A) and (B)
(2) (B) and (C)
(3) (C) and (D)
(4) (D) only
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Options:-

.1, Option ID :- 741,

. 2, Option ID :- 742,

. 3, Option ID :- 743,

. 4, Option ID :- 744,
 Answer Given:- 2, Option ID : -742

 Question ID:- 187

Options:-

.1, Option ID :- 745,

. 2, Option ID :- 746,

. 3, Option ID :- 747,

. 4, Option ID :- 748,
 Answer Given:- 1, Option ID : -745

3Tf*re>P?T Wf PlHll«hd ^ T̂ <H < î|tful q x̂l t ?
(A) 3ft#T

(B) 3fk 'il^dl^ci

(C)
(D) cd^HScfl 4!

(1) (A) 3fR (B)
(2) (B) A (Q
(3) (Q 3fR (D)
(4) %cf?f (D)

Read the following statements and select the correct option.
Assertion (A) : Rate of breathing in aquatic animals is much faster than that seen in terrestrial

organisms.
Aquatic organisms like fishes obtain oxygen in the dissolved state from water.Reason (R) :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) true.

PIHRIRSICI Rfeq sfk wt :

3Tf*rai8FT (A) : "fif ^ RTfsfa iJcHT qfcT 3Tfqqr cTj5l ^1? 1

chK <Jl (R) : ^ ^q ^vFT#eT 3T5R21T q 3T[cRftjR qrqft 11
(1) (A) (R) ^f, 3?fc (R), (A) -sft ^RTcTT11
(2) (A) (R) (R) , (A) r̂arti
(3) (A) (R) Wtl
(4) (A) TfeRT t, TRpg (R) Wt 1? I
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 Question ID:- 188

Options:-

.1, Option ID :- 749,

. 2, Option ID :- 750,

. 3, Option ID :- 751,

. 4, Option ID :- 752,
 Answer Given:- 2, Option ID : -750

 Question ID:- 189

Which of the following turns the pressure variations from sound waves into electrical signals in
the inner part of the ear ?
(1) Eardrum
(2) Cochlea
(3) Anvil
(4) Pinna

PdHPdRsld 3 ( T̂R ) % <HldR=b *fFT if cPtTTf % cR if nRdPld
^RdTt ?
(1) diuI Hid

(2)

(3) fwi
(4) di^HlRd

Read the statements below :
(A) All bacteria are unicellular.
(B) All protozoans are unicellular.
(C) All fungi are unicellular.
Which of the above statements is/are correct ?
(1) Only (A)
(2) (A) and (C)
(3) (A) and (B)
(4) (B) and (C)
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Options:-

.1, Option ID :- 753,

. 2, Option ID :- 754,

. 3, Option ID :- 755,

. 4, Option ID :- 756,
 Answer Given:- 3, Option ID : -755

 Question ID:- 190

Options:-

.1, Option ID :- 757,

. 2, Option ID :- 758,

. 3, Option ID :- 759,

RHf 'nrr R>[ TTferr :

(A) Rfcffcf ]?lcf 11
(B) yld^l3TT T^ ftcf f I

(C) Ff*ft =h=l =ti eblf^ l «=bl ’M ^f I

-SH^cW f̂ FTT/̂ ds) %/% ?
(1) (A)
(2) (A) aftr (C)
(3) (A) 3fo (B)
(4) (B) 3fc (Q

Which of the following statements is/are true for flowers ?
(A) Flowers are the sexual reproductive organs.

(B) Flowers are always bisexual.
(C) After fertilization, flowers give rise to fruits.

(1) (A) and (B)
(2) (A) and (C)
(3) (B) and (C)
(4) Only (A)

JBT % 3 PtHRinafl *¥ Rf RTR RiSR 7Tl?t i?/f ?

(A) JR cTPl =h RRR % 3FT f I

(B) ^®T ^% I

(C) fH *MH % WRffi 'JR £[ "'FcT ^11
fetchvM :

(1) (A) ate (B)
(2) (A) 3fR (C)

(3) (B) 3?R (Q
(4) %cfR (A)
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. 4, Option ID :- 760,
 Answer Given:- 4, Option ID : -760

Print ResponseSheet
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Post : TGT SCIENCE

Qno keyQuestion Description

001 2General English

002 4General English

003 3General English

004 1General English

005 3General English

006 2General English

007 3General English

008 2General English

009 1General English

010 3General English

011 3General Hindi

012 4General Hindi

013 2General Hindi

014 4General Hindi

015 2General Hindi

016 4General Hindi

017 3General Hindi

018 4General Hindi

019 4General Hindi

020 4General Hindi

021 1General Awareness& Current Affairs

022 2General Awareness& Current Affairs

023 1General Awareness& Current Affairs

024 4General Awareness& Current Affairs

025 2General Awareness& Current Affairs

026 3General Awareness& Current Affairs

027 4General Awareness& Current Affairs

028 3General Awareness& Current Affairs

029 1General Awareness& Current Affairs

030 4General Awareness& Current Affairs

031 2Reasoning Ability

032 2Reasoning Ability

033 3Reasoning Ability

034 4Reasoning Ability

035 4Reasoning Ability

036 3Computer Literacy

037 1Computer Literacy

038 4Computer Literacy

039 2Computer Literacy

040 1Computer Literacy

041 2Understanding the Learner

042 4Understanding the Learner

043 1Understanding the Learner

044 3Understanding the Learner

045 4Understanding the Learner

046 2Understanding the Learner

047 3Understanding the Learner

048 1Understanding the Learner

049 2Understanding the Learner

050 4Understanding the Learner

051 1Understanding Teaching Learning

Qno keyQuestion Description

052 3Understanding Teaching Learning

053 1Understanding Teaching Learning

054 2Understanding Teaching Learning

055 3Understanding Teaching Learning

056 4Understanding Teaching Learning

057 3Understanding Teaching Learning

058 1Understanding Teaching Learning

059 2Understanding Teaching Learning

060 4Understanding Teaching Learning

061 4Understanding Teaching Learning

062 3Understanding Teaching Learning

063 2Understanding Teaching Learning

064 1Understanding Teaching Learning

065 3Understanding Teaching Learning

066 1Creating Conducive Learning Env. Etc.

067 4Creating Conducive Learning Env. Etc.

068 2Creating Conducive Learning Env. Etc.

069 2Creating Conducive Learning Env. Etc.

070 1Creating Conducive Learning Env. Etc.

071 3Creating Conducive Learning Env. Etc.

072 4Creating Conducive Learning Env. Etc.

073 1Creating Conducive Learning Env. Etc.

074 2Creating Conducive Learning Env. Etc.

075 3Creating Conducive Learning Env. Etc.

076 4Creating Conducive Learning Env. Etc.

077 1Creating Conducive Learning Env. Etc.

078 2Creating Conducive Learning Env. Etc.

079 3Creating Conducive Learning Env. Etc.

080 4Creating Conducive Learning Env. Etc.

081 4SCIENCE

082 1SCIENCE

083 3SCIENCE

084 1SCIENCE

085 4SCIENCE

086 4SCIENCE

087 4SCIENCE

088 1SCIENCE

089 3SCIENCE

090 2SCIENCE

091 2SCIENCE

092 2SCIENCE

093 4SCIENCE

094 2SCIENCE

095 1SCIENCE

096 1SCIENCE

097 4SCIENCE

098 2SCIENCE

099 3SCIENCE

100 4SCIENCE

101 1SCIENCE

102 3SCIENCE

Qno keyQuestion Description

103 1SCIENCE

104 2SCIENCE

105 3SCIENCE

106 4SCIENCE

107 1SCIENCE

108 3SCIENCE

109 1SCIENCE

110 3SCIENCE

111 2SCIENCE

112 1SCIENCE

113 4SCIENCE

114 1SCIENCE

115 3SCIENCE

116 4SCIENCE

117 2SCIENCE

118 1SCIENCE

119 3SCIENCE

120 2SCIENCE

121 4SCIENCE

122 4SCIENCE

123 1SCIENCE

124 2SCIENCE

125 3SCIENCE

126 3SCIENCE

127 4SCIENCE

128 3SCIENCE

129 3SCIENCE

130 1SCIENCE

131 3SCIENCE

132 4SCIENCE

133 2SCIENCE

134 4SCIENCE

135 2SCIENCE

136 4SCIENCE

137 1SCIENCE

138 2SCIENCE

139 3SCIENCE

140 3SCIENCE

141 2SCIENCE

142 4SCIENCE

143 1SCIENCE

144 2SCIENCE

145 4SCIENCE

146 3SCIENCE

147 2SCIENCE

148 1SCIENCE

149 3SCIENCE

150 1SCIENCE

151 3SCIENCE

152 2SCIENCE

153 2SCIENCE
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Qno keyQuestion Description

154 2SCIENCE

155 3SCIENCE

156 2SCIENCE

157 2SCIENCE

158 2SCIENCE

159 2SCIENCE

160 2SCIENCE

161 3SCIENCE

162 4SCIENCE

163 1SCIENCE

164 3SCIENCE

165 2SCIENCE

166 2SCIENCE

167 4SCIENCE

168 2SCIENCE

169 4SCIENCE

170 2SCIENCE

171 3SCIENCE

172 3SCIENCE

173 2SCIENCE

174 4SCIENCE

175 2SCIENCE

176 2SCIENCE

177 1SCIENCE

178 2SCIENCE

179 3SCIENCE

180 2SCIENCE
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